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ENGLISH

Time Allowed : 3 Hrs. Max. Marks 85

Candidates are required to give their answers in their own words as far as
practicable. Marks allotted to each question are indicated against it.

Special Instructions :-
1. You must write Question Paper Series in the circle at top left side of title page of

your Answer-book.
2. While answering your questions, you must indicate on your Answer-book the same

question No. as appears in your question paper.
3. Do not leave blank page / pages in your Answer-book.
4. This paper is divided into three sections A, B and C. All the sections are

compulsory.
5. Do not exceed word limit wherever prescribed while answering the questions.

Section-A

Q1. Read the passages given below and answer the questions that follow :

(i) In today's fiercely competitive business environment, companies need to
communicate information pertaining to a whole range of issues in a lucid and
precise manner to their customers.

(ii) This is particularly so in the case of companies which do business in areas
such as manufacturing, information technology (IT), engineering products and
services — companies whose product and services may not be understood by
a customer not familiar with its technical aspects.

(iii) These communication materials are prepared in a company these days by
'technical writers — people who can effectively communicate to an intended
audience.

(iv) The skills of a technical writer are being increasingly sought for preparing
marketing documents such as brochures, case studies, website content and
media kit and for the preparation of a whole range of manuals. Though
technical writers in a company do a good portion of such work, the trend now
is to outsource technical writing to free–lancers.

(v) Technical writing and writing text–books are poles apart. The former is aimed
at those who do not have an in-depth knowledge about a product and hence
should be direct and lucid. An overdose of technical terms and jargon would
only add to the confusion of the customer.
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(vi) The basic requirement for being a technical writer is near total mastery over
English language. A technical writer should be natural in creative writing and
needs to be an expert in using Business English.

(vii) This simply means that those with a Bachelor's degree in English Literature
alongwith a diploma / degree in Journalism and having a Post-Graduate
Diploma in Computer Application (PGDCA) are being employed as technical
writers.

(viii) According to Joe Winston, Chief Executive Officer of 'I Manager', speaking
ability is not imperative for a technical writer. All that one needs is the talent
to write in a simple and effective manner. Many have inhibition in speaking
English but not their writing skills would be very sharp.

(ix) Technical writing would be a good option for such people. If a candidate is
to be assigned the task of preparing high–end technical manuals, he /she is
required to have higher qualifications such as an M.A./M.Phil. in English
Literature and a degree such as M.C.A.

(x) Companies look for such qualifications because technical writer first need to
understand the technical information themselves, before trying to communicate
it in de-jargonised language to the potential customers.

(xi) However, it is also true that many companies provide rigorous on the job-
training to fresh technical writers before allowing them to graduate to high-end
products.

(xii) Though the demand for good technical writers has risen sharply over the years,
the emphasis is never on numbers but on skills.

(xiii) Merely having the right mix of writing and comprehension skills is not
sufficient. A technical writer should keep his 'writing blades' constantly
sharpened. It means untold hours of reading up the latest in the technological
trends and ceaseless honing of one's Business English and writing skills. The
nature of technical writing is such that a writer has to be at the peak of his
expressive powers in each piece of writing he produces.

(xiv) A career in technical writing is seen as a good choice for women mainly
because it is widely held that women are more adept at creative writing than
men and the job does not entail 'graveyard shifts' or 'arduous travelling'.

(xv) A beginner can expect to be paid anywhere between Rs. 15,000/- a month.
Technical writers usually join as executive technical writers and then go on to
become senior technical writers, team leaders, documentation heads and some
even manage to make it to a management job within a decade. As in most
private sector jobs, merit is the main criterion for rise in jobs and not
necessarily the number of years one has put in.

Questions :-
(a) Answer the following questions briefly :

(i) What is the need of technical writing in today's world ? 1
(2)



(ii) What is the nature of the job of a technical writer ? 1
(iii) Whom does the technical writing aim at ? 1
(iv) According to Joe Winston, who could be a technical writer ? 1
(v) What should be the academic qualification of a technical writer ?

1
(vi) Is technical writing a good career for women ? Give two reasons.

2
(b) Find words from the passage which mean the same as the following :

(i) Clear (Para 1)
(ii) Continuous / without stopping (Para 13)
(iii) difficult (Para 14) (3×1=3)

Q2. Read the following passages carefully and answer the questions that follow :

Child labour has been sought in the country since the middle of the 19th
century when factories first made an appearance. Since children in most industries
provide the same productivity as adults, and in several cases even more, but at a far
lower cost, they were soon recognised as a means to lower overheads and increase
profits. However, as the industrial revolution progressed, gradually the people
became aware of the torture they were subjecting their children to — both mentally
and physically. But even as the country continued to progress at various levels, it
lagged behind in terms of the wherewithal and prosperity needed to take care of
new social relations which had sprung up. With the result that wages for workers
were abysmally low and it was difficult for a family to survive on one man's wages.
This is when human resources became the only true assets families had and every
pair of working hands, including those of children, was engaged in earning a
livelihood.

And once child labour had made an appearance in the job market, employers
soon began to prefer working children to working adults, for not only could they
give the same output as an adult worker at a much lower cost but were also more
nimble and agile and more amenable to discipline. Today, child labour has become
a vested interest for studies have revealed that child labour intensive areas are also
high adult unemployment zone. So it is not as if adult workers are not available.
They are available, only the employers prefer children because their high profits
depend largely on child labour.

However, it would be unfair to categorise child labour as purely a medium of
exploitation abject poverty existing in the country has made it a necessary evil
gravitated by the economic compulsions of the parents or guardians. A study
conducted revealed that 87% of the children in villages are forced to work out the
economic necessity while another conducted on the urban child labour force
disclosed that 88% of the children came to work due to poverty, 3% due to neglect
parents, 5% due to sudden death of parents and 4% due to parental compulsions.

(3)



It is indeed lamentable that poverty even compels parents and guardians to barter
their children for money. A number of young children are sold by their parents or
pledged as bonded labour.

(i) On the basis of your reading of the above passage, make note on it, using
recognizable abbreviations where necessary. Make use of a suitable format.
Suggest a suitable title to the given passage.      (4)

(ii) Write a summary of the passage.      (3)

Section-B

Q3. You are the general manager Brakes and Brakes (India) Ltd. You want to appoint two
sales representatives for your company. Give an advertisement to be published in
the classified columns of a local daily. (Word limit : 50 words)

Or
You have been successful in I.I.T. Entrance Examination. Write a suitable invitation
for your friends inviting them to a get together to celebrate the occasion at your
home.      (5)

Q4. You are Sanchit / Shristi. The World Book Fair which lasted for a month in your city
was the hot topic of all book lovers. Write a report on it in about 125 words for
publication in a newspaper.

Or
"Each one plant one" campaign was organised by your school to celebrate Van
Mahotsava Day on 10th Nov. As Secretary of your school ABC, write a report in
100-125 words for your school magazine. You are Sunil/ Sunita.      (8)

Q5. Write a letter to the Police Commissioner, Jaipur complaining about bad law and
order situation in your area.

Or
Write a letter to the Editor of 'The Tribune', Chandigarh about the undesirability of
primary school children carrying heavy school bags. Also suggest ways to reduce
the load. You are Gita / Govind of Chandigarh. (Word limit : 150 words)       (8)

Q6. You are Manoj / Meena. Write an article in 150/200 words, your experience of going
to school when suddenly it started raining heavily.

Or
You are Kamal / Kamla. Mobile phones have become a necessity and are seen in the
hands of the young and the old alike. Write an article on this, highlighting the crucial
role of the mobile phones by way of communication and in promoting business and
economy. Also point out the difficulties and dangers in using mobile phones while
driving.       (8)

(4)



Section-C

Q7. Read the extract and answer the questions that follow :-

Far far from gusty wanes these children's faces,
Like rootless weeds, the hair torn round their pallor;
The tall girl with her weighed-down head. The Paper
seeming boy, with rat's eyes. The stunted, unlucky heir
Of twisted bones, reciting a father's gnarled disease,
His lesson, from his desk. At back of the dim class
One unnoted, sweet and young. His eyes live in a dream,
Of squirrel's game, in tree room, other than this.

(i) Name the poem and the poet.
(ii) Who are being described in these lines ?
(iii) Where are the children sitting ?
(iv) Explain "weighed-down head".

Or
Perhaps the Earth can teach us
as when everything seems dead
and later proves to be alive.
Now I'll count up to twelve
and you keep quiet and I will go.

(i) Name the poem and the poet.
(ii) What can earth teach us ? How ?
(iii) What does the poet want us to do while he counts up to twelve ?
(iv) What harmful activities of man has the poet referred to in this poem ?    (4)

Q8. Answer the following questions in about 30 words each : (Any three)
(i) What is the 'sadness' that the poet refers to in the poem 'Keeping Quiet' ?
(ii) What pleasure does a beautiful thing give us ?
(iii) Have you ever stopped at a road-side stand ? What have you observed there?
(iv) How do 'denizens' and 'chivalric' add to our understanding of the tiger's

attitudes ? (3×2=6)

Q9. Answer the following questions : (Upto 30 words)
(i) What did the French teacher M. Hamel say about the language ?
(ii) What could be some of the reason for the migration of people from villages

to cities?
(iii) Why do you think Gandhi considered the Champaran episode to be a turning-

point of his life ?
(iv) What is the reason for the huge success of the novel "The Name of the Rose"?

(4×2=8)
(5)



Q10. Answer the following questions in about (125-150) words :
'Sophie's dreams and disappointments are all in her mind". Discuss.

Or
What are the instances in the story that show that characters of the iron master is
different from that of his daughter in many ways ?       (8)

Q11. Answer the following questions in about 125-150 words :
Why is Antarctica the place to go to, to understand the earth's present, past and
future ?

Or
Dr. Sadao was compelled by his duty as a doctor to help the enemy soldier. What
made Hana, his wife sympathetic to him in the face of open defiance from the
domestic staff?      (5)

Q12. Answer the following questions :
(i) How did the narrator get lost and reach the third lavel ?
(ii) Who is the tiger King ?
(iii) Why does Jack insist that it was the wizard that was hit and not the mother ?
(iv) Who is Mr. Lamb ? How does Derry get into his garden ? (4×2=8)
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fo"k;&fgUnh ¼,sfPNd½

le; % 3 ?k.Vs iw.kk±d % 85

uksV % lHkh iz'u vfuok;Z gSa vkSj izR;sd iz'u ds vad mlds lkeus fn, x, gSaA

iz01- fuEufyf[kr x|ka'k dks i<+dj uhps fy[ks x, iz'uksa ds mÙkj nhft, %

lekt esa ukfj;ksa dh fLFkfr fdlh Hkh lekt dh laLd`fr dh uhao ij vk/kkj j[krh gSA

f'kf{kr] lqlaLd`r ukjh gh vius lekt dks vkxs c<+k ldrh gSA Hkkjr esa ukfj;ksa dh n'kk

le;&le; ij cnyrh jgh gSA izkphu dky esa] lekt esa mudh cgqr izfr"Bk FkhA lekt

esa mudks iq:"kksa dh HkkfUr LFkku ns dj mUgsa dY;k.kh] v)k±fxuh] x`gy{eh vkfn lqUnj ukeksa

ls foHkwf"kr fd;kA os v/;kReoknh Fkha vkSj mudk y{; Kku&foKku }kjk vius dks Å¡pk

mBkuk FkkA mudk nkEiR; thou    /keZ vkSj v/;kReokn ls vksrizksr FkkA os oSfnd dky

ls _f"k;ksa ds vkJe esa jg dj Å¡ph&Å¡ph f'k{kk,a izkIr djrh FkhaA mUgsa /kkfeZd xzUFkksa dh

f'k{kk izkIr djus dk  vf/kdkj lekt }kjk ekU; FkkA mudk thou LorU= FkkA os lkfgR;]

foKku] dyk] jktuhfr lHkh {ks=ksa esa iq:"kksa ds led{k FkhaA ijUrq tSls&tSls le; chrrk

x;k] ukfj;ksa dh fLFkfr [kjkc gksrh xbZA lekt ds Bsdsnkjksa us ukfj;ksa ds   vf/kdkj Nhu

fy,A vf'kf{kr] nqcZy ukfj;ksa us o/kw] fo/kok vkSj nklh L=h ds :i esa o"kks± rd ?kksj vR;kpkj

lgkA L=h vfgalk dh vorkj gSA vfgalk dk vFkZ gS & vlhe izse vkSj vlhe izse dk vFkZ

gS & vlhe d"V lgus dh 'kfDrA ;g 'kfDr iq:"k dh tuuh L=h ds flok vf/kd ls vf/

kd ek=k esa dkSu fn[kk ldrk gS \ lalkj Hkj esa lkjh fL=;ka cgusa gSa] ekrk,a gSaA ;g fopkj

gh euq"; dks Å¡pk mBkus okyk gS vkSj cU/ku ls eqDr djus okyk gSA

iz'u %& ¼1½ dSlh fL=;ka lekt dks vkxs c<+k ldrh gSa \

¼2½ izkphu dky esa fL=;ksa dk D;k LFkku Fkk \

¼3½ dkSu&dkSu ls {ks= esa fL=;ka iq:"kksa ds leku Fkha \

¼4½ ukfj;ksa esa dkSu lh vlhe 'kfDr ikbZ tkrh gS \

¼5½ x|ka'k dk mi;qDr 'kh"kZd nhft,A 1½+1½+1½+1½+2=8)

iz02- fuEufyf[kr dkO;ka'k dks i<+dj uhps fy[ks iz'uksa ds mÙkj nhft, %

'ko dks nsa ge :i] jax] vknj ekuo dk \

ekuo dks ge dqfRlr fp= cuk nsa 'ko dk \

xr ;qx ds e`r vkn'kks± ds rkt euksgj]

ekuo ds eksgkU/k ân; esa fd, gq, ?kjA

Hkwy x, ge thou dk lUns'k vu'oj

e`rdksa ds gSa e`rd] thforksa dk gS bZ'ojA

iz'u %& ¼1½ dfo us rkt dks fdl ekufldrk dk Lekjd ekuk gS \

(7)



¼2½ dfo us bl dkO;ka'k esa D;k fpUrk O;Dr dh gS \

¼3½ dfo us fdl lUns'k dks Hkwyus dh ckr dh gS \

¼4½ dfo ds vuqlkj euq"; dk y{; D;k gS \ (2+2+2+2=8)

iz03- fdlh ,d fo"k; ij lkjxfHkZr fucU/k fyf[k, %

¼d½ jk"Vª Hkk"kk fgUnh]

¼[k½ orZeku f'k{kk&iz.kkyh % xq.k ,oa nks"k]

¼x½ fgekpy ds i;ZVd LFky]

¼?k½ iznw"k.k dh leL;k ,oa lek/kku]

¼³½ Hkkjr esa lwpuk&izkS|ksfxdh % ,d ;qxhu ØkfUr ¼5½

iz04- uxj&fuxe ds v/;{k dks ,d f'kdk;r&i= fyf[k,] ftlesa 'kgj esa QSyrh xUnxh

dh leL;k ls jkgr dh ekax dh xbZ gksA

vFkok

vius NksVs HkkbZ dks i= fyf[k,] ftlesa fo|ky; esa euk, x, okf"kZd ikfjrksf"kd

forj.k lekjksg dk o.kZu fd;k x;k gksA     ¼5½

iz05- fofHkUu tulapkj ek/;eksa dk lkekU; ifjp; nsrs gq, muls tqM+h ikap&ikap [kwfc;ksa

,oa [kkfe;ksa ij izdk'k Mkfy,A

vFkok

Q+hpj D;k gS \ mldh fo'ks"krk,a crykrs gq,] lekpkj vkSj Qhpj ds chp vUrj

Li"V dhft,A     ¼4½

iz06- dfork ls D;k rkRi;Z gS \ dfork ds izeq[k ?kVdksa vkSj muds egRo ij izdk'k Mkfy,A

vFkok

dgkuh vkSj ukVd dk lEcU/k crkrs gq, Li"V dhft, fd dgkuh dks ukVd cukrs

le;  fdu&fdu ckrksa dk /;ku j[kuk vko';d gksrk gS \     ¼4½

iz07- fuEufyf[kr i|ka'k dh lizlax O;k[;k dhft, %

;g tu gS & xkrk xhr ftUgsa fQj vkSj dkSu xk,xk \

iuMqCck & ;s eksrh lPps fQj dkSu d`rh yk,xk \

;g lfe/kk & ,slh vkx gBhyk fcjyk lqyxk,xkA

;g vf}rh; & ;g esjk & ;g eSa Lo;a folftZr &

;g nhi] vdsyk] Lusg Hkjk

gS xoZ Hkjk enekrk] ij bldks Hkh iafDr dks ns nksA

vFkok

(8)



vxgu nsol ?kVk fufl ck<+hA nwHkj nq[k tks tkb fdfe dk<+hAA

vc ?kfu nsol fcjg Hkk jkrhA tjS fcjg T;kSa nhid ckrhAA

dk¡ik fg;k tukok lhÅA rkS iS tkb gksb lax ihÅAA

?kj ?kj phj jpk lc dkgw¡A eksj :i jax yS xk ukgwAA

iyfV u cgqjk xk tks fcNksbZA vcgw¡ fQjS fQjS j¡x lksbZAA

fl;fj vfxfu fcjfgfu fg; tkjkA lqyfx lqyfx nx/kS HkS NkjkAA

;g nq[k nx/k u tkuS darwA tkscu tje djS HklearwAA

fi; lkSa dgsgq l¡nsljk ,s Hk¡ojk ,s dkxA

lks /kfu fcjgsa tfj xbZ rsfgd /kqvk¡ ge ykxAA ¼3½

iz08- fdUgha rhu iz'uksa ds mÙkj nhft, %

¼d½ dkusZfy;k dk xhr dfork esa izlkn us Hkkjr dh fdu fo'ks"krkvksa dh vksj ladsr

fd;k  gS \

¼[k½ cukjl esa /khjs&/khjs D;k&D;k gksrk gS \ ^/khjs&/khjs* ls dfo bl 'kgj ds ckjs

esa D;k dguk pkgrk gS \

¼x½ xhrkoyh ls ladfyr in ^jk?kkS ,d ckj fQfj vkokS* esa fufgr d:.kk vkSj

lUns'k dks vius 'kCnksa esa Li"V dhft,A

¼?k½ pkj eq[k] ik¡p eq[k vkSj "kV eq[k fdUgsa dgk x;k gS vkSj mudk nsoh ljLorh

ls D;k lEcU/k gS \ ¼2$2$2¾6½

iz09- fuEufyf[kr dkO;&iafDr;ksa dk dkO;&lkSan;Z Li"V dhft, %

cq> xbZ gS ykS i`Fkk dh]

ty mBks fQj lhapus dksA

vFkok

dqlfer dkuu gsfj deyeqf[k] ewfn jg, nq u;kuA

dksfdy&dyjo] e/kqdj&/kqfu lqfu] dj nsb >k¡ib dkuAA ¼4½

iz010- fdlh ,d dfo dk lkfgfR;d ifjp; nhft, % ¼5½

 ¼d½  t;'kadj izlkn]

 ¼[k½  lfPpnkuan ghjkuan okRL;k;u ^vKs;*]

 ¼x½ ?kukuan

iz011- fdUgha nks x|ka'kksa dh lizlax O;k[;k dhft, %

¼d½ ,d NksVs ls xkao ds fudV iRFkjksa ds <sj ds chp] isM+ ds uhps] ,d prqeZ[k

f'ko dh ewfrZ ns[khA og oSls gh isM+ ds lgkjs j[kh Fkh tSls mBkus ds fy, eq>s yypk

jgh gksA vc vki gh crkb,] eSa djrk gh D;k \ ;fn pkanzk;.k ozr djrh gqbZ fcYyh

ds lkeus ,d pwgk Lo;a vk tk, rks cspkjh dks viuk dÙkZO; ikyu djuk gh iM+rk

(9)



gSA bDds ls mrj dj b/kj&m/kj ns[krs gq, mls pqipki bDds ij j[k fy;kA 20 lsj

ot+u esa jgh gksxhA ̂ u dwdqj Hkw¡dk] u ig: tkxkA* ewfrZ vPNh FkhA ilksos ls FkksM+h lh

pht+ksa ds feyus dh deh blus iwjh dj nhA

¼[k½ jktk us gqDe fn;k fd mlds jkt esa lc yksx viuh vk¡[ksa cUn j[ksaxs rkfd

mUgsa 'kkfUr feyrh jgsA yksxksa us ,slk gh fd;k D;ksafd jktk dh vkKk ekuuk turk

ds fy, vfuok;Z gSA turk vk¡[ksa cUn fd,&fd, lkjk dke djrh Fkh vkSj vk'p;Z dh

ckr ;g fd dke igys dh rqyuk esa cgqr vf/kd vkSj vPNk gks jgk FkkA fQj gqDr

fudyk fd yksx vius&vius dkuksa esa fi?kyk gqvk lhlk Myok ysa D;ksafd lquuk

thfor jgus ds fy, fcYdqy t:jh ugha gSA yksxksa us ,slk gh fd;k vkSj mRiknu

vk'p;Ztud rjhds ls c<+ x;kA

¼x½ f/kDdkj gS mUgsa tks rhfy;ka rksM+us ds cnys mUgsa etcwr dj jgs gSa] tks Hkkjr

Hkwfe esa tUe ysdj vkSj lkfgR;dkj gksus dk naHk djds ekuo eqfDr ds xhr xkdj

Hkkjrh; tu dks ijk/khurk vkSj ijkHko dk ikB i<+krs gSaA ;s nz"Vk ugha gSa] budh vka[ksa

vrhr dh vksj gSaA ;s lz"Vk ugha gSa] buds niZ.k esa bUgha dh vagoknh fod`fr;ka fn[kkbZ

nsrh gSaA ysfdu ftUgsa bl ns'k dh /kjrh ls I;kj gS] bl /kjrh ij clus okyksa ls Lusg

gS] tks lkfgR; dh ;qxkarjdkjh Hkwfedk le>rs gSa] os vkxs c<+ jgs gSaA

    ¼4$4¾8½

iz012- fdUgha rhu iz'uksa ds mÙkj nhft, %

¼d½ ^izse/ku dh Nk;k&Le`fr* laLej.k esa ys[kd us pkS/kjh lkgc ds O;fDrRo ds

fdu&fdu  igyqvksa dks mtkxj fd;k gS \

¼[k½ laofn;k dh D;k fo'ks"krk,a gSa vkSj xkaookyksa ds eu esa laofn;k dh D;k vo/kkj.kk

gS \

¼x½ vjkQ+kr ds vkfrF; izse ls lEcfU/kr fdUgha nks ?kVukvksa dk o.kZu dhft,A

¼?k½ ^dqV*] ^dqVt* vkSj ^dqVuh* 'kCnksa dk fo'ys"k.k dj muesa vkilh lEcU/k

LFkkfir dhft,A   (1½+1½+1½=4½)

iz013- fdlh ,d fucU/kdkj dk lkfgfR;d ifjp; nhft, %

¼d½ jke pUnz 'kqDy]

¼[k½ eerk dkfy;k (4½)

iz014- fdUgha nks iz'uksa ds mÙkj nhft, %

¼d½ ^;g Qwl dh jk[k u Fkh] mldh vfHkyk"kkvksa dh jk[k FkhA* lUnHkZ lfgr

foospu dhft,A

(10)



¼[k½ igkM+ksa dh p<+kbZ esa Hkwi nknk dk dksbZ tokc ughaA mlds pfj= dh fo'ks"krk,a

crkb,A

¼x½ fcLdksgj esa gqbZ cjlkr dk tks o.kZu fclukFk us fd;k gS] mls vius 'kCnksa esa

fyf[k,A (4+4=8)

iz015- ¼d½ ^pwYgk B.Mk fd;k gksrk] rks nq'euksa dk dystk dSls B.Mk gksrk \* bl dFku

ds vk/kkj ij lwjnkl dh eu%fLFkfr dk o.kZu dhft,A

vFkok

^izd`fr ltho ukjh cu xbZ* & bl dFku ds lUnHkZ esa ys[kd dh izd`fr] ukjh

vkSj lkSUn;Z laca/kh ekU;rk,a Li"V dhft,A (4)
¼[k½ ^vkjksg.k* dgkuh dks i<+dj vkids eu esa igkM+ksa ij L=h dh fLFkfr dh D;k

Nfo curh gS \ ml ij vius fopkj O;Dr dhft,A

vFkok

ys[kd dks D;ksa yxrk gS fd ^ge ftls fodkl dh vkS|ksfxd lH;rk dgrs gSa

og mtkM+ dh vilH;rk gS* \ vki D;k ekurs gSa \ (4)

(11)



MATHEMATICS

Max. Marks 85

I. Unit-I (8)
1. Relations and Functions, 3½ = 3½
2. Inverse Trignometric Function, 1+3½ (C) = 4½

II. Unit-II (11½)
1. Matrices, 1+2 (C) = 3
2. Determinants, 3½ + 5 = 8½

III. Unit-III (37½)
1. Continuity and Differentiability, 1+2+3½ (C) = 6½
2. Applications of Derivatives, 1+2+5 (C) = 8
3. Integrals, 1 + 3½ + 3½ + 3½ = 11½
4. Application of integrals, 5 (C) = 5
5. Differential Equations, 1+2+3½ = 6½

IV. Unit-IV (15)
1. Vectors, 1+1+3½ = 5½
2. Three-Dimensional Geometry, 1 + 3½ + 5(C) = 9½

V. Unit-V (5)
1. Linear Programming , 5 = 5

VI. Unit-VI (8)
1. Probability, 1+3½+3½ (C) = 8

Q.No. Marks Total

1-10 1 10
11-14 2 08
15-26 3½ 42
27-31 5 25

85
Choice :
Q.No. : 11, 16, 18, 22, 26, 28, 29, 30
Marks : 2, 3½, 3½, 3½, 3½, 5, 5, 5, = 31

(12)



MATHEMATICS

Time : 3 Hrs. Max. Marks 85

Special Instructions :
1. You must write Question Paper Series in the circle at top left side of title page of

your answer book.
2. While answering your questions you must indicate on your answer book the same

question number as appears in your question paper.
3. Do not leave blank page(s) in your answer book.
4. Q.No. 1 to 10 multiple choice questions are of 1 mark each. Questions 11 to 14 are

of 2 marks each, Q.Nos. 15 to 26 are of 3½ marks each and Q.Nos. 27 to 31 are
of 5 marks each.

5. All questions are compulsory.
6. Internal choices have been provided in some questions. You have to attempt only one

of the choices in such questions.
7. Use of calculator is not permitted, however, you ask for logarithmic tables, if

required from the superintendent of examinations.
8. Try to answer the questions in serial order as far as possible.

Q1. If sin–1 x = y then
(a) 0 ñ y ñ π (b) –     ñ y ñ

(c) 0 < y < π (d) –    <  y <

Q2. A = [aij] m×n is a square matrix if

(a) m < n (b) m > n (c) m = n (d) None

Q3. Derivative of (ax + b)n is :
(a) n (ax + b)n–1 (b) (ax + b)n–1  (c) n(ax + b)n–1 (d) na(ax + b)n–1

a     a
Q4. The rate of change of the area of a circle with respect to its radius r at r = 6cm is:

(a) 10π (b) 12π (c) 8π (d) 11π

Q5. equals :

(a) (b) (c) (d)

π
2

π
2

π
2

π
2

(13)
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π
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2π
 3

 π
12

π
6
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Q6. The order of differential equation
2x2y11 – 3y1 + y = 0 is
(a) 2 (b) 1 (c) 0 (d) not defined

Q7. If θ is angle between a and b, then xa . b x = x a × b x when θ is equal to :

(a) 0 (b) (c) (d) π

Q8. If a is a non zero vector of magnitude 'a' and λ a non zero scalar, then λa is a unit
vector if :
(a) λ = 1 (b) λ =  –1 (c) a = xλx (d) a =

Q9. The planes : 2x – y + 4z = 5 and 5x – 2.5y + 10z = 6 are :
(a) Perpendicular (b) Parallel
(c) Intersect y-axis (d) passes through  0, 0,

Q10. If P(A) =    , P(B) = 0, then P (A/B) is

(a) 0 (b) (c) not defined (d) 1

Q11. Find x and y if 2     +    =

OR

By using elementary operations, find the inverse of matrix A =

Q12. Examine the function : f(x) = for continuity :

Q13. Find the least value of a such that the function f given by f(x) = x² + ax + 1 is
strictly increasing on (1, 2)

Q14. Solve the differential equation :
y' + y = 1

Q15. Find gof and fog if
f(x) = xxxand g(x) = x5x – 2x

Q16. Show that :

sin ( 2x√1–x² ) = 2sin x,   –   ñ x ñ

OR
Prove that :

t t t t tt

π
4

π
2

t t

1
xλx

1
x – 5

1
2

Σ
4

1
2

1 3
0 x

y 0
1 2

5 6
1 8

1  2
2 –1

–1  1
√2

 1
√2

–1



tan x + tan = tan     ,  xxx<

Q17. By using properties of determinant prove that :

b +c q + r y + z a p x
c + a r + p z + x = 2 b q y
a + b p + q x + y c r z

Q18. Is the function defined by :

f(x) =

a continuous function ?
OR

Differentiate sin  cos (x²)  w.r.t. x

Q19. Integrate  x sec²x dx

Q20. Find (x² +1) dx as the limit of a sum.

Q21. By using properties of definite integrals, evaluate :

(2 log sinx – log sin2x) dx

Q22. Solve the differential equation :

(tan y – x) dy = (1 + y²) dx

OR

Solve the differential equation
(x² + xy) dy = (x² + y²) dx

Q23. Find the area of a triangle having the points A (1, 1, 1), B(1, 2, 3) and C (2, 3, 1)
as its vertices.

Q24. Show that the lines

   =     = and =  =
are coplanar

–1–1 –12x
1 – x²

3x – x³
1 – 3x²

 1
√3( )

x + 5, if x ñ 1
x – 5, if x >1

2

0

J@2

0

–1

(   )

x + 3
  –3

y – 1
  1

z – 5
   5

x + 1
  –1

y – 2
  2

z – 5
   5

(15)



Q25. Find the probability distribution of
(i) Number of heads in two tosses of a coin.
(ii) Number of tails in the simultaneous tosses of three coins.
(iii) Number of heads in four tosses of a coin.

Q26. Find the probability of getting 5 exactly twice in 7 throws of a dice

OR

Let E and F be events with P(E) =     P(F) = and P(E3F) =    .

Are E and F independent ?

Q27. Solve the following system of equations by matrix method :
3x – 2y + 3z = 8
2x + y – z = 1
4x – 3y + 2z = 4

Q28. Find the local maxima and local minima if any of the function :
f(x) = x³ – 6x² + 9x + 15

OR

A wire of length 28m is to be cut into two pieces. One of the pieces is to be made
into a square and the other into a circle. What should be the length of two pieces,
so that the combined area of the square and the circle is minimum.

Q29. Find the area of the region in the first quadrant enclosed by the x-axis, the line y=x
and the circle x² + y² =32

OR
Find the area under the given curves and the given lines.
y = x², x =1, x = 2 and x – axis

Q30. Find the shortest distance between the lines

  = = and      =       =

OR

Find the equations of the planes that passes through three points
(1, 1, –1), (6, 4, –5), (–4, –2, 3)

Q31. Minimise Z = –3x + 4y
subject to x + 2y ñ 8, 3x + 2y ñ 12, x ú 0, y ú 0

3
5

 3
10

1
5

(16)
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PHYSICS

Time Allowed : 3 Hrs. Max. Marks 60

* Candidates are required to give their answers in their own words as far as
practicable.

* Marks allotted to each question are indicated against it.

Special Instructions :-
1. You must write "Question Paper Series" in the circle at top left side of title page of

your Answer-book.
2. While answering your questions, you must indicate on your answer book the same

question no. as appeared in your question paper.
3. Do not leave blank page / pages in your answer-book.
4. All questions are compulsory.
5. Internal choice is given in some questions.
6. Use log tables, if necessary.
7. Answers should be brief and to the point.
8. Question Nos 1-8 are MCQ (Multiple Choice Questions) carrying "1" mark each,

Question Nos. 9-16 are short answer type carrying "2" marks each, Question Nos.
17-24 are short answer type carrying "3" marks each and Question Nos. 25-27 are
long answer type carrying "4" marks each.

Q1. The S.I. unit of Electric charge is :
(a) Coulomb (b) Ampere (c) Weber (d) Volt 1

Q2. The best conductor among following is :
(a) Iron (b) Copper (c) Silver (d) Alluminium 1

Q3. The torque experienced by magnetic dipole having dipole moment " M " placed in

uniform magnetic field (B) is :
(a) B × M (b) M × B (c) Zero (d) None of these 1

Q4. The Lenz's law is in direct consequence of
(a) Conservation of momentum (b) Conservation of charge
(c) Conservation of energy (d) None of these 1

Q5. The image formed by concave lens is :
(a) Real (b) Virtual
(c) Real as well as virtual (d) None of these 1

Q6. Optical fibre works on the principle of
(a) Refraction of light (b) Diffraction of light
(c) Polarization of light (d) Total Internal Reflection 1

t

t

t t t t

(17)



Q7. The energy equivalent of 1 gm of substance is :
(a) 9×1013 J (b) 9×1014 J (c) 9×1016 J (d) 9×1015 J 1

Q8. A.C. is converted into D.C. by
(a) Transistor (b) Amplifier   (c)    Rectifier (d) Oscillator 1

Q9. What do you mean by conservation of charge, give two examples.
OR

Calculate the electrical capacitance of parallel plate capacitor. 2

Q10. Calculate the equivalent resistance between A and B in following network. 2

Q11. Calculate the magnetic field due to current carrying straight solenoid. 2

Q12. State and explain the Faradays' laws of electro-magnetic Induction. 2

Q13. Draw a labelled ray diagram of compound Microscope. 2
OR

A 4.5 cm needle is placed 12 cm away from a convex mirror of focal length 15cm.
Give the location of image and magnification.

Q14. Define and explain Brewster's law. 2

Q15. Differentiate Conductor, Insulator and Semi-conductor on the basis of Energy-Bands.
2

Q16. Explain principle of reflection on the basis of Hygen's Principle. 2

Q17. On the basis of Einstein's photoelectric equation, explain the laws of photoelectric
effect. 3

OR
The work function of Cesium metal is 2.14 ev. when light of frequency 6×1014Hz
is incident on the metal surface then find
(a) Maximum kinetic energy of the emitted electrons
(b) Stopping potential

Q18. State and explain laws of radioactive decay and find expression for half life of
radioactive substance. 3

Q19. Define Mean Value & R.M.S. value of AC and find expression for Mean Value
of AC. 3

(18)



Q20. Explain the working of transistor of Common-Emitter amplifier. 3
OR

What is "AND" Gate, write its logic symbol, Boolean expression and truth table.

Q21. What is modulation, why it is needed and how amplitude modulated wave is
detected ? 3

Q22. Show that EM waves are transverse in nature. 3

Q23. Define Drift velocity of electron in a conductor and establish relation between
drift velocity and electric current. 3

Q24. (a) Decode the following carbon-resistor having colour codes as, Black-Yellow -
Green & Silver.

(b) Define Eddy currents.
(c) What is function of transducer in Communication System. 3

Q25. Establish the Len's Maker's formula for convex lens stating the new Cartisian Sign
Conventions used.

OR
Define Diffraction of light and explain diffraction of light at single slit. 4

Q26. Calculate electric field due to electric dipole at a point lying on its equitorial line.
4

Q27. Define diamagnetism, give properties of paramagnetism and explain the domain
theory of ferromagnetism. 4

(19)



PHYSICS
(Practical)

Time Allowed : 3 Hrs. Max. Marks 25

Note : (1) The candidates will tick mark ( ) two experiments from each section A
and B. The Practical examiner will allot one experimental question from
each Section A and B to the candidate out of marked questions.

(2) The candidate will tick mark ( ) three activity questions from each
Section A and B. The examiner will allot two activity questions from
each Section A and B.

(3) Section C is compulsory.
(4) Log tables will be supplied on demand.
(5) Any change from allotted experimental question will cost (two) 2 marks.
(6) Any change from allotted activity question will cost (one) 1 mark.

Note : The candidates are required to attempt either one experimental question (or)
two activity questions from each Section A and B.

Section-A

Q1. To verify laws of combination (Series / parallel) of resistance using a metre bridge.
6

Q2. To compare the e.m.f.'s of two given primary cells using potentiometer. 6

Q3. To determine resistance per cm of a given wire by plotting a graph of potential
difference versus current. 6

Q4. To find the frequency of a.c. mains with Sonometer. 6

Q5. To determine resistance of a galvanometer by half-deflection method and to find its
figure of merit. 6

ACTIVITIES

Q1. To assemble the components of given electrical circuit. 3

Q2. To measure the resistance and impedance of an inductor with or without iron core.
3

Q3. To study the variation in potential drop with length of a wire for a steady current.
3

Q4. To assemble a household circuit comprising three bulbs, three (on/off) switches,
a fuse and a power source. 3

(20)



Q5. To measure resistance, voltage (AC/DC), current and check the continuity of given
circuit using multimeter. 3

Section-B

Q6. To find the focal length of convex mirror using convex lens. 6

Q7. To find the value of V for different values of U in case of concave mirror and find
the focal length. 6

Q8. To determine the refractive index of a glass slab using a travelling microscope. 6

Q9. To draw the I-V characteristic curve of a p-n junction in forward bias and reverse
bias. 6

Q10. To draw the characteristic curves of zener diode and to determine its reverse
breakdown voltage. 6

ACTIVITIES

Q6. To observe polarization of light using two polaroids. 3

Q7. To observe diffraction of light due to thin slit. 3

Q8. To obtain a lens combination with the specified focal length by using two lenses
from the given set of lenses. 3

Q9. To study the effect of intensity of light (by varying distance of source) on L.D.R.
3

Q10. To study the nature and size of the image of a candle formed by a concave
mirror on screen. 3

Section-C

Q11. Practical record of experiments and activities (Note-Book) 5

Q12. Investigatory Projects :
(a) Records 2
(b) Viva - Voce 2

Q13. Viva - Voce on experiments and activities.    2, 2

(21)



CHEMISTRY

Time Allowed : 3 Hrs. Max. Marks 60

Special Instructions :-
1. You must write question paper series in the circle at top left side of title page of your

Answer-book.
2. All questions are compulsory. Internal choices have been given in some questions.
3. Question Nos. I to VI are multiple choice questions (MCQ) carry 1 (one) mark each.

Choose one correct answer among four options.
4. Question Nos VII to X are very short answer type carrying 1 (one) mark each.

Answer these questions in about one word or one line.
5. Question Nos. XI to XVII are short answer type carrying 2 (Two) marks each.

Answer these questions in about 30 words each.
6. Question Nos. XVIII to XXV are short type carrying 3 (three) marks each. Answer

these questions in about 40 words each.
7. Question Nos. XXVI to XXVIII are long type carrying 4 (four) marks each. Answer

these questions in about 50 words each.
8. Do not leave blank page / pages in your answer-book.

Q1. The coordination number of a metal crystallising in a hexagonal close packing
structure is :
(a) 12 (b) 4 (c) 8 (d) 6 1

Q2. The boiling point of solvent containing a non-volatile solute :-
(a) is decreased (b) is elevated
(c) does not change (d) None of the above 1

Q3. Galvanised iron sheets are coated with :
(a) C (b) Cu (c) Zn (d) Ni 1

Q4. The rate constant of a reaction is 1.2×10–5 mol–2 litre² S–1. The order of a reaction
is :
(a) Zero (b) 1 (c) 2 (d) 3 1

Q5. Which type of property is the Brownian movement of colloidal sol ?
(a) Electrical (b) Optical   (c)   Mechanical (d) Colligative 1

Q6. Cinnabar is an ore of :-
(a) Hg (b) Zn (c) Ag (d) Cu 1

Q7. Define inert pair effect. 1

Q8. What is the shape of chromate ion ? 1

Q9. Write the IUPAC name of iso - butyl alcohol. 1

(22)



Q10. What happen when chloroform is exposed to air and sun light ? 1

Q11. Write the four differences between Schottky defects and Frenkel defects. 2

Q12. How many coulombs are required to deposit 50 gm of aluminium when the electrode
reaction is :
Al3+ + 3e t Al(S) 2

Q13. Write the mechanism of rusting of iron. 2

Q14. Describe the following terms :
(i) Electrodialysis (ii) Emulsion 2

Q15. (a) Give two examples of interhalogen compounds.
(b) Oxygen exist as gas while sulphur exist as a solid at room temperature. Why?

1+1=2
Q16. (a) Name the phenomenon responsible for the similar properties of Zr and Hf.

Define it.
(b) Why is the separation of lanthanoids difficult ? 1+1=2

Q17. How is potassium dichromate prepared from chromite ? 2

Q18. (a) Write the IUPAC system name of the complex compound :
NH4 [Cr (NH3)2 (NCS)4] 1

(b) Discuss the bonding in [Fe (CH)6]
3– . 2

OR
(a) Define coordination entity. 1
(b) How many geometrical isomers of

[Cr (en)2 Cl2]
+ exist ? Which of these show optical activity ? 2

Q19. (a) Why chlorobenzene is less reactive than chloroethane ? Explain. 2
(b) How can you convert methyl chloride to ethyl chloride ? 1

Q20. Write a note on the following :
(a) Keimer - Tiemann Reaction
(b) Coupling Reaction
(c) Williamson's Synthesis    1+1+1=3

Q21. (a) Define ppm. 1
(b) A solution of glucose in water is labelled as 10% (w/w). The density of the

solution is 1.20 gm L–1. Calculate molality of solution. 2
OR

(a) Define Van't Hoff Factor 1
(b) A solution containing 12.5 gm of a non-electrolyte substance in 175 gm of

water gave boiling point elevation of 0.70 K. Calculate the molar mass of the
substance.
(K6 for water = 0.52 K Kg mol–1) 2

(23)

–



Q22. (a) Define activation energy. 1
(b) A first order reaction is 20% complete in 10 minutes. Calculate the

time for 75% completion of reaction. 2

Q23. Explain the following :
(a) PbQ2 is more stable than PbCl4.
(b) NH3 has higher boiling point than PH3.
(c) BF3 is a weaker Lewis Acid than BCl3.    1+1+1=3

Q24. (a) How can you distinguish between :
aldehydes and ketones 1

(b) Write a note on the following :-
(i) H.V.Z. - Reaction
(ii) Cannizzaco's Reaction 2

Q25. (a) What type of bonds hold a DNA double helix together ? 1
(b) What are proteins ? State their biological importance. 2

Q26. (a) Give chemical reaction for Gabriel's phthalimide synthesis. 1
(b) Explain, why ethyl amine is more basic than aniline. 2
(c) How will you convert aniline to phenol. 1

OR
(a) Give chemical reaction for diazotization reaction and Hoffmann Bromide

reaction.
(b) What happen when :

(i) Methyl isocyanide is treated with ozone.
(ii) Methyl amine is treated wth sodium nitrite and cold dil. HCl solution.

   2+2
Q27. (a) Write the monomers of Terylene. 1

(b) Give the preparation of :
(i) Buna - S
(ii) Orlon 2

(c) Define the Double Base Propellants. 1

Q28. (a) Define Vat Dyes
(b) Write a note on Zone refining.
(c) Complete the following reaction :-

(i) CH3COCH3 + 4HI t  ? + ? + ?

(ii) (CH3)2 CHOH + Cu  t ? + ? 2
573 K

Red P
423 K

(24)



CHEMISTRY
(New Regulation)

Practical

Time Allowed : 3 Hrs. Max. Marks 25

Q1. Determine the equivalent weight of crystalline in a sample of Mohr's Salt, 19.6 gm
of which have been dissolved per litre of the given solution. (Ask for what you want)

8

Q2. Find out two acidic radicals and two basic radicals from given mixture. 6

Q3. To prepare pure crystals of potash alum by crystallization method. 3

Q4. Class record and Viva. 4

Q5. Investigatory Project. 4

(25)



BIOLOGY
(Theory)

Time Allowed : 3 Hrs. Max. Marks 60

Special Instructions :-
1. You must write question paper series in the circle at top left side of title page of your

Answer-book.
2. While answering your question, you must indicate on your answer book same

question No. as appears in your question paper.
3. Do not leave blank page / pages in your Answer-book.
4. All the questions are compulsory and are divided into four sections.
5. Answers should be to the point.
6. Que No. 1 to 5 (Section-A) are of one mark each and are of MCQ type.
7. Que No. 6 to 15 (Section-B) are of 1½ marks each. Answer each of them in 30-40

words.
8. Que No. 16 to 23 (Section-C) are of 2½ marks each. Answer each of them in about

80 words.
9. Que No. 24 & 25 (Section-C) are of 3 marks each. Answer each of them in about

120 words.
10. Que No. 26 (Section-D) is of 4 marks. Answer in about 140 words.
11. Que No. 27 & 28 are of 5 marks each. Answer in about 150-170 words.
12. Draw diagrams wherever necessary.

Section-A

Q1. Cllistogamous flower are
(a) Male flower which never opens
(b) female flower which never opens
(c) Bisexual flower which never opens
(d) Open bisexual flower which perform self pollination in bud condition.

     (1)

Q2. An 'O' blood group child can not have parents of blood group
(a) B and B (b) A and B
(c) O and O (d) AB and O      (1)

Q3. Single cell protein (SCP) represents
(a) Protein extracted from a micro-organism (b) Protein from a clone of cells
(c) Protein mass from single cell animal (d) Biomass from growth of a

micro-organism        (1)
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Q4. Addition of foregin gene in to a crop is
(a) Genitic Engineering (b) Biotechnology
(c) Tissue culture (d) Immunisation      (1)

Q5. Pyramid of number deals with
(a) Species in an area (b) Individuals in a Community
(c) Individual in a trophic level (d) Sub species in a Community      (1)

Section-B

Q6. What is Colostrum ? What are its main functions ?
OR

What are Leydig cells ? What is their function ?          (1½)

Q7. How is a sickle cell carrier at an advantage over the rest of human population in
a malaria ridden area ?          (1½)

Q8. What are transgenic bacteria ? Illustrate using one example.
OR

Explain principle and function of ELISA.          (1½)

Q9. Briefly describe Predator food chain.          (1½)

Q10. Define :
(a) Dominant trait. (b) Recessive trait (c) Homozygous

OR
Write one function of each.
(a) Promotor gene (b) t RNA (c) Exons    (1½)

Q11. What is triple fussion ? What is its significance ?          (1½)

Q12. Microbes can be used to decrease the use of chemical fertilizer and pesticides ?
Explain how this can be accomplished ?   (1½)

Q13. Define the following terms :
(a) Biopatent (b) Biopiracy (c) Genitically modified food

        (1½)

Q14. Outline salient features of Carbon Cycle in nature.         (1½)

Q15. What is gene therapy ?         (1½)
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Section-C

Q16. What is aminocentesis ? What is its significance ?    (2½)

Q17. What are Homologous organs ? Explain with examples.          (2½)

Q18. What are biofertilzer, explain ?    (2½)

Q19. Define : (a) Scavenging (b) Commensalism (c) Symbiosis
(d) Predation (e) Proto co-operation

OR

Write one example for each of the following :
(a) Heliophyte (b) Viviparous plant (c) Edothermic animals
(d) Ectothermic animals (e) Sciophyle    (2½)

Q20. What is biotechnology ? How does old biotechnology differs from modern
biotechnology ?    (2½)

Q21. Define Mendal's law of Independent assortment. Explain with suitable example.
OR

Write the application of Recombinant DNA technology.          (2½)

Q22. Differentiate between spermatogensis and oogensis.          (2½)

Q23. Describe hot spots of biodiversity with species reference to India.          (2½)

Q24. Descibe an inducible operon with example and differentiate from repressible operon.
           (3)

Q25. What do you understand by acid rain ? What are its effects on the vegitation ?
     (3)

Section-D

Q26. What is Atavisim also write the name of atleast four vestigeal organ present in
human body.

OR
Describe Darwin Theory of 'Natural Selection'.     (4)

Q27. (a) Write expanded forms of :
(1) AMIS (2) CMIS (3) NACO

(b) List any four danger signals of Cancer.

OR
(28)



(a) Name and explain briefly any three types of Cancer.
(b) Differentiate between antibodies and interferons.   (3+2)

Q28. (a) Recapitulation theory was proposed by
(1) Van Bear (2) Darwin
(3) Haeckel (4) Aristotle

(b) Draw labelled L.S. of angiospermic ovule.
(c) What are Cry Protein ? Name the organism that produces them.

      (1+2+2)
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BIOLOGY
(Practical)

Time Allowed : 3 Hrs. Max. Marks 25

General Instructions :-
1. All the questions are divided into two sections. Section A and Section B. Perform

any two experiments from Section-A.
2. All the questions of Section-B are compulsory.

SECTION-A

Q1. Peform an experiment to study the soil samples from different sites for their texture
and moisture content. (3)

Q2. Perform an experiment for the study of plant population density by quadrate method.
(3)

Q3. Perform an experiment to study pH and water holding capacity of soil. (3)

Q4. Perform an experiment to study pH clarity and presence of any living organism from
different samples of water. (3)

SECTION-B

Q5. Prepare a slide to show pollen germination. (2)

Q6. Prepare temporary mount of onion root tip for the study of mitosis. (2)

Q7. Identify, comment and draw well labelled diagrams of slides and specimens
A, B, C and D. (1½+1½+1½+1½)

Q8. Record of Investigatory Project and Viva based on the project. (5)

Q9. Practical record and viva based on the experiments. (4)

(30)



ACCOUNTANCY

Time Allowed : 3 Hrs. Max. Marks 65

lkekU; funsZ'k %&
1- iz'u i= dks nks Hkkxksa es ck¡Vk x;k gSA Hkkx&v vkSj Hkkx&cA Hkkx&v ds 50 vad rFkk

Hkkx&c ds 15 vad gSaA
2- lHkh iz'u vfuok;Z gSaA
3- izR;sd iz'u ds vad vkxs n'kkZ, x, gSaA
4- mÙkj laf{kIr vkSj vadksa ds vuqlkj gksus pkfg,A

General Instructions :-
1. Question paper is divided into two parts. Part-A and Part-B. Part-A carries 50 marks

and Part-B carries 15 marks.
2. All questions are compulsory.
3. Marks are indicated against each question.
4. Answer should be brief and according to marks allotted.

Part-A
(Accounting for not for Profit Organisations, Partnership and Company Accounts)

Q1. lka>snkjh lays[k D;k gS \ 2
What is Partnership Deed ?

Q2. Mr. Gupta is a partner in a firm. He drew regularly Rs. 1200 at the end of every
month for the six months ending 30 June 2005. Calculate interest on drawing at
15% p.a. 2

Q3. va'k vkSj _.ki= esa nks vUrj crkb,A 2
Give two distinctions between Share and Debentures.

Q4. _.ki= dh pkj fo'ks"krk,a crkvksA 2
State the four characteristics of debenture.

Q5. vuqikfrd vkcaVu ls vkidk D;k rkRi;Z gS \ 2
What do you mean by Pro-rata Allotment ?

Q6. ykHk&vtZu vuqikr ls D;k vfHkizk; gS \ bldh x.kuk dSls dh tkrh gS \ 2
What is Gaining Ratio ? How it is calculated ?

Q7. vk; O;; [kkrk ykHk&gkfu [kkrs ls fdl rjg vyx gS \ 3
How does the Income and Expenditure account differ from a Profit & Loss Account?
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Q8. P and S are partners sharing profits and losses in the ratio of 3:2. Their books
showed goodwill at Rs. 20,000. R is admitted with 1/5th share which he acquires
equally from P and S. R brings Rs. 20,000 as his capital and Rs. 10,000 as his share
of goodwill. Profit at the end of the year were the amount of Rs. 1,00,000. You are
required to give journal entries. 3

Q9. U;wure vfHknku vkSj va'kksa ds tCr ls D;k vfHkizk; gS \ 3
What do you understand by Minimum Subscription and forfeiture of share ?

Q10. ^flafdax Q.M* D;k gS \ ;g D;ksa cuk;k tkrk gS \ 3
What is Sinking Fund and why it is prepared ?

Q11. A company issued Rs. 10,000   10% Debentures on 1st Jan. 1997. Interest on these
debentures is payable on 31st March and 30th September each year. Pass necessary
journal for 1997 assuming that Income Tax is deducted @ 25% on interest and that
accounts are closed on 30th September. 4

Q12. From the following Receipts and Payments A/c of a club and from the information
supplied, Prepare Income and Expenditure A/c for the year ended 31st Dec. 2000.

To Balance bid 250 By Salaries     1,200
To Subscription By Gen. Expenses 300

1999 250 By Electric Charges 200
2000      1,000 By Books 100
2001 200 By News Papers 400

To Sale of old furniture By Postage  50
(costing 100)   60 By furniture 250
To rent received for the
use of hall 740 By Balance clos 500
Entertainment 400
To sale of Newspaper 100

     3,000     3,000

Information :
(a) The club has 50 members each paying annual subscription of Rs. 25.

Subscription outstanding on 31st Dec. 1999 were Rs. 300.
(b) On 31st Dec. 2000 salaries outstanding amount to Rs. 100. Salaries paid

included Rs. 100 for the year 1999.
(c) On 1-1-2000 the club owned land and building valued at Rs. 10,000, furniture

Rs. 600 and books for Rs. 500. 5

OR
izkfIr vkSj Hkqxrku [kkrk D;k gS \ bldh D;k fo'ks"krk,¡ gSa \
What is Receipt and Payment account ? What are its characteristics
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Q13. X and Y share profits in the proportion of 3:1. The balance sheet of the firm as on
31st Dec. 1998 was as follows :

Liabilities Rs. Assets Rs.
Sundry Creditors 41,500 Cash at Bank 23,500
Capital BIR  3,000
X 30,000 Debtors 16,000
Y 16,000 46,000 Stock 20,000

Land & Building 25,000
87,500 87,500

On 1st January, 1999 Z was admitted into partnership on the following terms :
(i) That Z will pay Rs. 10,000 as his share of capital.
(ii) That Z will pay Rs. 5,000 for goodwill.
(iii) That the stock be reduced by 10%.
(iv) A provision at the rate of 5% be created both for bad and doubtful debts and

the BIR.
(v) That the value of the land and building be appreciated by 20%. Prepare

revaluation A/c and capital A/c.

OR

[;kfr fdls dgrs gSa \ ,d u, lk>snkj dks blds fy, D;ksa ewY; pqdkuk iM+rk gS \ bldk

ewY; fdl izdkj fu/kkZfjr fd;k tkrk gS \

What is goodwill ? Why does a new partner pay for it ? How is its value
determined? 5

Q14. X Co. Ltd,. issued 10,000 shares of Rs. 10 each at Re. 1 Premium. The amount
payable are as follows :

Rs.
on application 3
on allotment 5 (including premium)
on first call 2
on final call 2

Ajay who was holding 100 shares, did not pay his allotment and first call money.
His shares were forfeited and Sanjay who was holding 200 shares did not pay first
call money and his shares were subsequently forfeited. The share were forfeited after
the first call is over and reissued to Mr. Gupta for Rs. 2,500 fully paid.
Prepare the necessary Journal Entries. 5
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Q15. C, D and E were partners sharing profits in the ratio of 1/2, 1/3 and 1/6 respectively.
The Balance Sheet of C, D and E as on 31st Dec. 1998 are as follows :

Liabilities Amount Assets Amount
Sundry Creditors  19,000 Cash at Bank   2,500
B/P   5,000 Debtor 16,000

Less : Reserve for
Doubtful debts     500  15,500

Reserve Fund  12,000 Stock  25,000
Capital A/c Motor vans   8,000
C 40,000 Plant & Machinery  35,000
D 30,000 Factory Building  45,000
E 25,000  95,000

     1,31,000      1,31,000

D retires on that subject to the following adjustments.
(i) Goodwill of the firm to be valued at Rs. 18000 and is to be written off later

on.
(ii) Plant to be depreciated by 10% and Motor vans by 15%.
(iii) Stock to be appreciated by 20% and building by 10%.
(iv) The Reserve for doubtful debts to be increased by Rs. 1950.

Prepare Revaluation A/c, Capital A/c and Balance Sheet of the firm after CLS
retirements.

OR
fdlh lk>snkj ds vodk'k xzg.k vFkok e`R;q ij fd, tkus okys lek;kstuksa dk foLrkj lfgr
o.kZu djksA
Explain in detail the adjustments of A/cs on the retirement and death of Partner.

7

Part-B
(Analysis of Financial Statements)

Q16. Under the headings will you show the following items in the Balance sheet of a Joint
Stock Company.
(i) Stock
(ii) Cash A/c
(iii) Trade Marks
(iv) Bills Receivable
(v) Debentures 2

Q17. foÙkh; fooj.k fo'ys"k.k ds mís'; ls D;k vfHkizk; gS \ 2
Define the objectives of financial analysis.

Q18. ^izo`fÙk fo'ys"k.k* dk vfHkizk; ,oa nks mís'; crkb,A 2
What is the meaning and two objectives of trend analysis ?
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Q19. jksdM+ izokg fooj.k dh D;k lhek,a gSa \ 2
What are the limitations of Cash Flow Statement ?

Q20. From the following information calculate :
(a) Current Ratio
(b) Liquid Ratio
(c) Operating Ratio

Items Rs. Rs.
Current Assets 70,000 Operating Expenses 40,000
Current Liabilities 35,000 Sales     1,20,000
Stock 30,00 Cost of goods sold 60,000

3

Q21. From the following information prepare a Cash Flow Statement.
Opening Cash Balance 20,000
Closing Cash Balance 24,000
Decrease in Debtors 10,000
Increase in Creditors 14,000
Sale of Fixed Assets 40,000
Redemption of Debentures    1,00,000
Net Profit for the year 40,000 4

(35)



ACCOUNTANCY

Time Allowed : 3 Hrs. Max. Marks 65

Part–A Accounting for not for Profit Organisations, Partnership Firms and Companis

Unit-1 : Accounting for Not for Profit Organisation (8 marks)
Break up : 3 (Theory) + 5(Practical or Theory Choice) = (8 marks)

Unit-2 : Accounting for Partnership Firms (4 marks)
Break up : 2(Theory) + 2(Practical) = (4 marks)

Unit-3 : Reconstitution of Partnership = (17 marks)
Break up : 2(Theory) + 3 (Practical) + 5(Practical or Theory choice) + 7 (Practical

or Theory Choice) = 17 marks

Unit-4 : Accounting for Share Capital and Debentures (21 marks)
4(i) : Accounting for Share capital (12 marks)

Break up : 2(Theory) + 2(Theory) + 3(Theory) + 5(Practical) = (12 marks)
4(ii) : Accounting for Debentures (9 marks)

Break up : 2(Theory) + 3(Theory) + 4(Practical) = (9 marks)

Part–B (Analysis of Financial Statements)

Unit-5 : Analysis of Financial Statements (9 marks)
Break up : 2(Theory) + 2(Theory) + 2(Theory) + 3(Practical) = (9 marks)

Unit-6 : Cash Flow Statement (6 marks)
Break up : 2(Theory) + 4 (Practical) = (6 marks)
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Guidelines for Project Work (Practical)
ACCOUNTANCY

Part–B (Analysis & Financial Statement)

Time Allowed : 1½ Hrs. Max. Marks 20

Unitwise weightage along with guidelines :-

Unit-I :- PROJECT FILE (4 Marks)
The student will prepare the Project File to record their work related its
application oriented problems attempted by them based on Part B. The
Project File should be neatly hand written with page number marked.
Each step of the solution needs to be highlighted. Conclusions drawn are
placed in boxes.

Unit-II :- WRITTEN TEST (12 Marks) (One Hour)
There will be 3 application-oriented Problems of 6 marks each from
Accounting Ratio, Comparative Statements and Cash Flow Statement. Out
of which the students will attempt any two. Marks will be awarded on
the steps taken, data identified and solution arrived at.

Unit-III :- VIVA - VOCE (4 Marks)
The Examiner will ask 3-4 questions to test the authenticity of the work
done in the Project file by the student.

IMPORTANT NOTE :-
The Examination of Project Work (Practical) will be conducted internally by the

concerned schools. The marks obtained by the candidates in the Project Work (Practical)
may be intimated by the concerned school to Boards office in the month of February
every year.

However, students appearing in the capacity of Private candidate(s) shall have to get
his Project Work (Practical) examined at an Institution / Examination Centre notified by
the Board for the purpose.

(37)



For Project Work (Practical)
ACCOUNTANCY

Part–B (Analysis & Financial Statement)

Time Allowed: 1½ Hrs. Max. Marks 20

General Instructions :-
(i) Project file carries 4 marks.
(ii) Viva-Voce carries 4 marks.
(iii) Attempt any two application - oriented problems.
(iv) Each problem carries 6 marks.

Problem No. 1 :- The following comparative percentage are computed from the
Financial Statements & Two companies Onida and BPL.

Onida Co. BPL Co.
(i) Net Income to Sales 10% 9%
(ii) Net Income to capital employed 12% 10%
(iii) Sales 75,000 90,000
(iv) Opening Debtors 8,000 8,600
(v) Closing Debtors 8,600 11,700

A. Which company appears to be more successful ? Give reasons.
B. Which companies performance has deteriorated. 6

Problem No. 2 :- The following information is given :-
Current ratio : 2.5
Liquidity ratio : 1.5
Net working capital : Rs. 300,000
Stock turnover ratio : 6 times
(Cost of Sales / Closing stock)
Gross Profit Ratio  20%
Fixed assets turnover ratio : 2 times
Average debt collection period : 2 months
Fixed assets : Share holders net worth 1:1
Reserves : Share capital 0.5:1
Draw up Balance Sheet from the above informations. 6
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Problem No. 3 :- From the following information, calculate Cash Flow from Investing
Activities and Financing Activities :

Opening Closing
   (Rs.)   (Rs.)

Machinery at Cost   2,00,000  3,90,000
Accumulated Dep. on Machinery   1,20,000  2,00,000
Capital 10,00,000       15,00,000
Loan from I.D.B.I.   5,00,000  3,25,000

During the year machinery costing 1,00,000 was sold at Profit of Rs. 60,000.
Depreciation on machinery charged during the year amounted to Rs. 100,000.

6
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BUSINESS STUDIES

le; % 3 ?k.Vs iw.kk±d % 85
Time Allowed : 3 Hrs. Max. Marks 85

lkekU; funsZ'k %&
1- iz'u i= dks nks Hkkxksa esa ck¡Vk x;k gSA Hkkx&v vkSj Hkkx&cA Hkkx&v ds 50 vad rFkk Hkkx

c ds 35 vad gSaA
2- lHkh iz'u vfuok;Z gSaA
3- izR;sd iz'u ds vad blds vkxs n'kkZ, x, gSaA
4- mÙkj laf{kIr vkSj vadksa ds vuqlkj gksus pkfg,A

General Instructions :-
1. Question paper is divided into two parts. Part A and Part B. Part A carries 50 marks

and Part B carries 35 marks.
2. All questions are compulsory.
3. Marks are indicated against each question.
4. Answers should be brief and according to marks allotted.

Hkkx&v
Part -A  (Sample Paper)

Q1. What do you mean by Management ? 2
izcU/k fdls dgrs gSa \

Q2. "Management is both art as well as science". Explain. 2
^izcU/k foKku vkSj dyk nksuksa gSaA* Li"V dhft,A

Q3. What do you mean by 'Levels of Management' ? 2
izcU/k ds Lrjksa ls vkidk D;k vfHkizk; gS \

Q4. Explain the meaning of 'unity of direction'. 2
funsZ'k dh ,drk (unity of direction) dk vFkZ crkb,A

Q5. What is meant by 'Delegation of Authority' ? 2
^vf/kdkj dk izR;k;kstu* (Delegation of Authority) dks ifjHkkf"kr dhft,A

Q6. What is functional structure of organisation ? 3
dk;kZRed laxBu <kaps ls vkidk D;k vfHkizk; gS \

Q7. Distinguish between delegation of Authority and decentralisation. 3
vf/kdkj varj.k rFkk fodsUæh;dj.k esa vUrj crkbZ;sA
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Q8. Differentiate between Time study and Motion study. 4
le; v/;;u ,oa xfr v/;;u esa varj dhft,A

Q9. Define recruitment. Explain in brief the internal sources of recruitment. 4
HkrhZ dk D;k vfHkizk; gS \ blds vkarfjd lzksrksa dh O;k[;k dhft,A

Q10. Distinguish between recruitment and selection. 4
HkrhZ rFkk p;u esa vUrj Li"V dhft,A

Q11. Explain in brief the meaning and importance of motivation. 5
vfHkizsj.kk ds vFkZ ,oa egRo dks la{ksi esa Li"V dhft,A

Q12. Differentiate between formal and informal communication. 5
vkSipkfjd rFkk vukSipkfjd lUns'k okgu esa vUrj dhft,A

Q13. What is planning ? What are its characteristics ?
fu;kstu fdls dgrs gSa \ bldh fo'ks"krkvksa dk o.kZu dhft,A

OR
Describe briefly the steps involved in the process of planning.
fu;kstu izfØ;k esa layXu dneksa dk la{ksi esa o.kZu dhft,A 6

Q14. Explain the characteristics of a good control system.
vPNh fu;U=.k iz.kkyh dh fo'ks"krkvksa dk o.kZu dhft,A

OR
Explain the relationship between planning and control.
fu;kstu rFkk fu;U=.k ds e/; lEcU/k Li"V dhft,A 6

Hkkx&c
Part-B

Q15. What is capital structure ? 2
iwath <kapk D;k gS \

Q16. Explain the meaning of money market. 2
eqæk cktkj dk vFkZ Li"V dhft,A

Q17. State any two functions of stock exchange. 2
LdU/k foif.k ds fdUgha nks dk;ks± dks crkb,A

Q18. Explain the objectives of Financial Management. 3
foÙkh; izcU/k ds mís';ksa dks crkb,A

Q19. State the objectives of Marketing. 3
foi.ku ds mís';ksa dks crkb,A
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Q20. What is SEBI ? Explain the functions of SEBI. 4
lsoh D;k gS \ lsoh ds dk;ks± dk o.kZu dhft,A

Q21. Explain various methods of sales promotion. 4
foØ; lao)Zu dh fofHkUu fof/k;ksa dk o.kZu dhft,A

Q22. What is under capitalisation ? Discuss its causes. 5
vYi iwathdj.k D;k gS \ blds dkj.kksa dh foospuk dhft,A

Q23. Distinguish between Selling and Marketing. 5
foi.ku rFkk foØ;.k esa vUrj dhft,A

Q24. Explain the rights of Consumers under the Consumer Protection Act, 1986. 5
miHkksDrk laj{k.k vf/kfu;e] 1986 ds vuqlkj miHkksDrk ds dkSu&dkSu ls vf/kdkj gSa \
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BUSINESS STUDIES
(Unit wise Distribution of Marks)

Time Allowed : 3 Hrs. Max. Marks 85

PART-A (Priciples and Functions of Management)

Unit - I - Nature and Significance of Management. (6 marks)
Break up : 2+2+2 = (6 marks)

Unit - II - Principles of Management (6 marks)
Break up : 2 + 4 = (6 marks)

Unit - III - Business Environment
Nil

Unit - IV - Planning (6 marks)
Break up : One question of 6 marks (Choice) = (6 marks)

Unit - V - Organising (8 marks)
Break up : 2 + 3 + 3 = (8 marks)

Unit - VI - Staffing (8 marks)
Break up : 4 + 4 = (8 marks)

Unit - VII - Directing (10 marks)
Break up : 5 + 5 = (10 marks)

Unit - VIII - Controlling (6 marks)
Break up : One question of 6 marks (choice) = (6 marks)

PART-B (Business Finance and Marketing)

Unit - IX - Financial Management (10 marks)
Break up : 2+3+5 = (10 marks)

Unit - X - Capital Market (8 marks)
Break up : 2+2+ 4 = (8 marks)

Unit - XI - Marketing Management (12 marks)
Break up : 3 + 4 +5 = (12 marks)

Unit - XII - Consumer Protection (5 marks)
One question of 5 marks = (5 marks)
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HISTORY

Time Allowed : 3 hrs. Maximum Marks : 85

lkekU; funsZ'k %

General Instructions :
 ¼1½ lHkh iz'u vfuok;Z gSaA

All questions are compulsory.
 ¼2½ 2 vad okys iz'u dk mÙkj yxHkx 30&40 'kCnksa esa nhft,A

Give answer to 2 marks question upto 30-40 words.
 ¼3½ 3 vad okys iz'u dk mÙkj yxHkx 60&80 'kCnksa esa nhft,A

Give answer to 3 marks question upto 60-80 words.
 ¼4½ 4 vad okys iz'u dk mÙkj yxHkx 100 'kCnksa esa nhft,A

Give answer to 4 marks question upto 100 words.
 ¼5½ 5 vad okys iz'u dk mÙkj yxHkx 120 'kCnksa esa nhft,A

Give answer to 5 marks question upto 120 words.
 ¼6½ ekufp=ksa dks mÙkjiqfLrdk ds lkFk /kkxs ls cka/ksA

Maps should be securely tied in answer book.

iz01- flU/kq ?kkVh dh lH;rk dks gM+Iik laLd`fr ds uke ls D;ksa tkuk tkrk gS \ ¼2½

Indus Valley Civilization is known as Harappan Civilization. Why ?

iz02- eSxLFkuht dkSu Fkk \   ¼2½

Who was Megasthenese ?

iz03- /keZ lw= vkSj /keZ 'kkL= D;k gSa \   ¼2½

What are Dharma Sutras and Dharma Shastras ?

iz04- o.kZ O;oLFkk D;k gS \   ¼2½

What is Varna System ?

iz05- _XoSfnd vk;ks± ds /kkfeZd thou ds ckjs esa vki D;k tkurs gks \   ¼2½

What do you know about the religious life of Rigvedic Aryans ?

iz06- ßckS) /keZ fgUnw /keZ ds vUrxZr gh ,d lq/kkjoknh vkUnksyu FkkAÞ bl er dh

foospuk djsaA   ¼2½

Examine the view that "Buddhism was a reform movement within Hinduism."

iz07- vcqy Qt+y vkbu&,&vdcjh dh izkekf.kdrk ds izfr lko/kku FkkA dSls\ ¼2½

Abul Fazal was careful for the reality of Ain-I-Akbari. How ?
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iz08- Þ'ksj'kkg vdcj dk vxzxkeh FkkAÞ O;k[;k djsaA ¼2½

"Shershah was a fore-runner of Akbar." Comment.

iz09- fot;uxj lkezkT; dh LFkkiuk dc vkSj fdlus dh \ ¼2½

Who was the founder of Vijaynagar Empire and when ?

iz010- HkfDr vkUnksyu ls D;k vfHkizk; gS \ ¼2½

What do you mean by Bhakti Movement ?

iz011- bCucrwrk dkSu Fkk \ ¼2½

Who was Ibn Buttuta ?

iz012- caxky dk LFkk;h cankscLr D;k gS \ ¼2½

What is the permanent Settlement of Bengal ?

iz013- QksVZ fofy;e ij ,d laf{kIr uksV fy[kks ¼2½

Write a short note on Fort William.

iz014- jkWysV ,DV D;k Fkk \ ¼2½

What was Rowlatt Act ?

iz015- Hkkjrh; lafo/kku nqfu;k dk lcls yEck lafo/kku D;ksa gS \ ¼2½

Why is the Indian Constitution the longest constitution of the world ?

iz016- eksgu tksnM+ks D;ksa izfl) gS \ ¼3½

Why is Mohenjodaro famous for ?

iz017- eqxy dky esa Hkw&jktLo iz.kkyh dh rhu eq[; fo'ks"krk,a D;k Fkha \ ¼3½

What were the three main features of Land Revenue System under Mughals ?

iz018- cgeuh vkSj fot;uxj ds e/; la?k"kZ ds D;k dkj.k Fks \ ¼3½

What were the causes of conflict between Bahamani and Vijaynagar ?

iz019- bLyke ds ikap LraHkksa ds ckjs esa vki D;k tkurs gks \ ¼3½

What do you know about Five Pillars of Islam ?

iz020- vCnqj jT+t+kd dkSu Fkk \ ¼3½

Who was Abdur Razzaq ?

iz021- jS;rokM+h cUnksoLr D;k gS \ ¼3½

What is Ryotwari System ?
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iz022- 1857 dh ?kVuk ds fy, ykWMZ MYgkSt+h dks fdl lhek rd ft+Eesnkj ekuk tk ldrk

  gS \ ¼3½

Assess the responsibility of Dalhousie in hastening the events of 1857.

iz023- Hkkjr esa jsy fdlus vkjEHk dh \ blls dkSu ls rhu jsyos uxj vfLrRo esa vk, \

¼3½

Who introduced railways in India ? Which were three railways cities came into existance
by this ?

iz024- Hkkjrh; lafo/kku ds egÙo ds dksbZ pkj fcUnq fy[kksA ¼3½

Write four important points of Indian Constitution.

iz025- 1857 bZ0 ds fonzksg dh izd`fr D;k Fkh \ ¼4½

What was the nature of the Revolt of 1857 ?

iz026- Hkkjrh; Lora=rk laxzke esa xka/kh th ds ;ksxnku dk o.kZu djksA ¼4½

Describe the role of Mahatma Gandhi in Indian National Movement.

iz027- ekS;Z lkezkT; ds iru ds D;k dkj.k Fks \ ¼5½
What were the causes of the downfall of Mauryan Empire ?

OR
 Qkáku vkSj mlds Hkkjr o`Ùkkar ij uksV fy[ksaA

Write a note on Fahien and his description of India.

iz028- ckcj ds Hkkjr vkØe.k ds le; Hkkjr dh jktuhfrd voLFkk dSlh Fkh \  ¼5½

How was the political conditions of India on the eve of Babur's invasion ?
OR

 'ksj'kkglwjh ds dsUnzh; 'kklu izcU/k dk o.kZu djksA

Explain the central administration of Sher Shah Suri.

iz029- Hkkjr foHkktu ds D;k dkj.k Fks \ ¼5½

What were the causes of the Partition of India ?
OR

 Hkkjr esa lkaiznkf;drk ds mn; ds D;k dkj.k Fks \

What were the causes of the rise of communalism in India ?

iz030- Hkkjr ds ekufp= ij v'kksd dk lkezkT; fn[kk,aA ¼5½

Show Ashoka's Empire on the map of India.
OR

 Hkkjr ds ekufp= ij jk"Vªh; vkUnksyu ls lEcfU/kr egRoiw.kZ LFkku fn[kkvksA

Show the important places related to the National Movement on the map of India.
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ECONOMICS

Time Allowed : 3 hrs. Maximum Marks : 85

lkekU; funsZ'k %

General Instructions :
 ¼1½ lHkh iz'u vfuok;Z gSaA

All questions are compulsory.
 ¼2½ iz'u ds lHkh Hkkxksa dk mÙkj ,d gh LFkku ij nsaA

All parts of one question should be attempted at one place.
 ¼3½ izR;sd iz'u ds vad iz'u ds lkeus fn, x, gSaA

Marks of each question are given in front of it.

iz01- ¼i½ vFkZ'kkL= ls D;k vfHkizk; gS \

What do you mean by Economics ?
¼ii½ vkfFkZd fØ;k D;k gS \

What is Economic activity ?
¼iii½ mi;ksfxrk ls vki D;k le>rs gSa \

What do you understand by Utility ?
¼iv½ cktkj ls D;k vfHkizk; gS \

What is meant by Market ? (1×4=4)

iz02- vkfFkZd leL;k ls D;k vfHkizk; gS ;g D;ksa mRiUu gksrh gS \

What is meant by economic problem ? Why does it arise ? (2)

iz03- lhekUr mRikn rFkk vkSlr mRikn esa lEcU/k crkb,A

Explain the relationship between the Average product and Marginal product.
(2)

iz04- rkfydk vkSj js[kk fp= dh lgk;rk ls miHkksDrk lUrqyu dh O;k[;k dhft,A

Explain the meaning of Consumer's equilibrium with the help of a table and diagram.
(3)

iz05- ekax esa o`f) vkSj ekax esa deh dh fp= dh lgk;rk ls O;k[;k dhft,A

Explain increase in demand and decrease in demand with the help of diagram.
(3)

iz06- iw.kZ izfr;ksfxrk cktkj dh fo'ks"krkvksa dk o.kZu dhft,A

Explain the characteristics of a perfect competition market. (3)
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iz07- fuEu rkfydk dks iwjk dhft, %

Complete the following table : (3)

   mRiknu bdkb;ka     dqy ykxr vkSlr ifjorZu'khy ykxr   lhekUr ykxr

Output Units      Total Cost (TC)    (AVC) Average Variable      (M.C.) Marginal
 Cost     Cost

0 100
1 150
2 190
3 220
4 236
5 270

iz08- rkfydk vkSj js[kkfp= dh lgk;rk ls vkSlr vk; AR rFkk lhekUr vk; MR esa  lEcU/k

dh O;k[;k djksA

Explain the relationship between AR and MR with the help of diagrams and
schedules.

(4)
iz09- lUrqyu dher ls vki D;k le>rs gSa A ekax rFkk iwfrZ dh 'kfDr;ka lUrqyu dher

dks fdl izdkj izHkkfor djrh gSa \     ¼4½

What do you understand by Equilibrium Price ? How does the forces of demand and
supply affect the equilibrium price ?

iz010- ekax dh dher yksp ls D;k le>rs gSa \ bls dSls ekik tkrk gS \

What do you understand by price elasticity of demand  ? How is it measured ?
(5)

iz011- ?kVrs&c<+rs vuqikr ds fu;e dh O;k[;k dhft,A

Explain the law of variable proportion. (5)

iz012- iwfrZ dk D;k vFkZ gksrk gS \ iwfrZ dks izHkkfor djus okys rRoksa dh O;k[;k dhft,A

What is the meaning of supply ? Explain the factors affecting supply of a commodity.
(5)

OR
¼i½ ekax oØ uhps nkb± vksj D;ksa >qdrk gS \

       Why does demand curve slope down-ward to right ?
¼ii½ ca/kh ykxrksa rFkk ifjorZu'khy ykxrksa esa vUrj Li"V djsaA

       Distinguish between the fixed cost and variable cost. (2.5+2.5=5)



Hkkx&[k (PART-B)

iz013- ¼i½ lef"V&vFkZ'kkL= ls vki D;k le>rs gSa \

What do you understand by Macro economics ?
 ¼ii½ ldy ?kjsyw mRikn ls D;k vfHkizk; gS \

What is meant by Gross Domestic Product (GDP)
 ¼iii½ oLrq fofue; D;k gS \

What is batar system of exchange ?
 ¼iv½ miHkksx izo`fÙk ls D;k vfHkizk; gS \

What is meant by Propesity to consume ? (1×4=4)

iz014- fuft vk; rFkk oS;fäd vk; esa D;k vUrj gS \

What is the difference between the private income and personal income ? (2)

iz015- lkewfgd ekax ds rhu la?kVdksa dh O;k[;k dhft,A

Explain three components of aggregate demand. (2)

iz016- Hkqxrku 'ks"k O;kikj 'ks"k esa D;k vUrj gS \

What is the difference between balance of payment and balance of trade ? (2)

iz017- vk/kqfud vFkZO;oLFkkvksa esa ljdkj ds O;; dk egÙo Li"V djsaA

Clearly explain the significance of Government expenditure in the modern economies.
(3)

iz018- fuEu vkadM+ksa ls lk/ku ykxr ij ?kjsyw mRikn dh x.kuk djsaA

 Calculate the domestic product at factor cost in following datas :
(3)

ensa (Item)   ¼djksM+ #0½ (Crores Rs.)
deZpkfj;ksa dk ikfjJfed 220

Compensation of employees
izpkyu vf/k'ks"k 180

Operating Surplus
fefJr vk; 200

Mixed Income
fLFkj iwath dk miHkksx 140

Consumption on fixed capital
'kq) vizR;{k dj  10

Net Indirect Taxes

(49)



iz019- eqnzk ds eq[; dk;Z dkSu ls gSa \

What are the main functions of money ? (3)

iz020- dsUnzh; cSad ls vki D;k le>rs gSa \ dsUnzh; cSad ds dk;Z dk o.kZu djsaA

What do you understand by Central Bank ? Explain its function. (4)

iz021- ctVh; ?kkVs dks fu;af=r djus ds fofHkUu mik;ksa dk o.kZu dhft,A

Give details of the various measures to control budgetary deficit. (4)

iz022- fuos'k xq.kd dh ifjHkk"kk nsa A fuos'k xq.kd rFkk miHkksx dh lhekUr izo`fÙk esa D;k

 lEcU/k gS \

Define  investment  multiplier. What  is  the  relationship  between  investment-
multiplier and marginal propensity to consume.         (5)

iz023- pkj {ks=h; pØh; izokg ekMy dh O;k[;k dhft,A

Explain four sector circular flow of income model. (5)

iz024- Hkqxrku 'ks"k ds vlUrqyu ls D;k vfHkizk; gS \ ;g fdu dkj.kksa ls gksrk gS] O;k[;k

djsaA

What is meant by disequilibrium in the balance of payments ? What are its causes ?
Explain.

OR
 laf{kIr uksV fy[kks %

 Write short notes on :
¼i½ vf/kekax fdls dgrs gSa \ mRikn vkSj dherksa ij bldk D;k izHkko gksrk gS \

What is excess demand ? What is its impact on output and price ?
(2)

¼ii½ fofue; nj dh ifjorZu'khy iz.kkyh dh laf{kIr O;k[;k djsaA

Write short explanation of variable system of exchange.
(3)
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POLITICAL SCIENCE

Time Allowed : 3 hrs. Maximum Marks : 85

lkekU; funsZ'k %

¼1½ lHkh iz'u vfuok;Z gSaA

¼2½ 2 vad okys iz'uksa dk mÙkj 40 ls 60 'kCnksa esaA

¼3½ 3 vad okys iz'uksa dk mÙkj 60 ls 75 'kCnksa esaA

¼4½ 5 vad okys iz'uksa dk mÙkj 125 ls 150 'kCnksa esaA

¼5½ 6 vad okys iz'uksa dk mÙkj 200 ls 250 'kCnksa esaA

General Instructions :
(1) All questions are compulsory.
(2) Answer to 2 marks question should be between  40 to 60 words.
(3) Answer to 3 marks question should be between  60 to 75 words.
(4) Answer to 5 marks question should be between  125 to 150 words.
(5) Answer to 6 marks question should be between  200 to 250 words.

iz01- ,d nyh; izHkqRo D;k gS \

What is one party dominance ? (2)

iz02- dkaxzsl esa QwV dc iM+h \

When did the split take place in Congress ? (2)

iz03- xjhch gVkvks dk D;k vFkZ gS \

What do you mean by 'Garibi Hatao'. (2)

iz04- /kkjk 370 ij ,d uksV fy[kksA

Write a note on Article 370. (2)

iz05- nks {ks=h; nyksa ds uke fy[kksA

Write the names of two regional parties. (2)

iz06- fpidks vkUnksyu dk vkjEHk dSls gqvk \

How did Chipko Andolan begin ?
(2)

iz07- xBcU/ku dh jktuhfr dk D;k vFkZ gS \

What do you mean by Coalition politics ? (2)

iz08- la;qDr izxfr'khy xBcU/ku ij uksV fy[kksA

Write a note on UPA (United Progressive Alliance) (2)
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iz09- oS'ohdj.k dk D;k vFkZ gS \

What do you mean by Globalisation ? (2)

iz010- vk;ks/;k fookn D;k gS \

 What is Ayodhya dispute ? (2)

iz011- Hkkjr phu lhek fookn D;k gS \

What is Indo China border dispute ? (2)

iz012- ASEAN ds nks mís'; fy[kksA

Write two aims of ASEAN. (2)

iz013- Jhyadk esa tkrh; la?k"kZ ds nks dkj.k fy[kksA

Write two causes of ethnic conflict in Sri Lanka. (2)

iz014- nf{k.k ,f'k;k D;k gS \

What is South Asia ? (2)

iz015- la;qDr jk"Vª dh LFkkiuk dc gqbZ Fkh \ ml le; blds fdrus lnL; Fks \

When was U.N. established ? How many countries were its members at that time ?
(2)

iz016- la;qDr jk"Vª ds egklfpo dkSu gSa \

Who is Secretary General of U.N. ? (2)

iz017- fu%'kL=hdj.k D;ksa vko';d gS \

Why disarmament is necessary ? (2)

iz018- ekuoh; vf/kdkjksa ls D;k vfHkizk; gS \

What do you mean by human rights ? (2)

iz019- izFke rhu pqukoksa esa eq[; foi{kh ny dkSu ls Fks \

Who were the major opposition parties during first three elections ? (3)

iz020- jk"Vª fuekZ.k lEcU/kh usg: th ds n`f"Vdks.k dh O;k[;k djsaA

Explain Nehru's approach to nation building. (3)

iz021- opuc) ukSdj'kkgh ls vkidk D;k vfHkizk; gS \

What do you mean by committed bureaucracy ? (3)

iz022- 1977 ds pquko rFkk turk ikVhZ ds xBu dk o.kZu djsaA

Explain 1977 Election and Formation of Janta Party. (3)
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iz023- lwpuk ds vf/kdkj dh fo'ks"krk,a fy[kksA

Write the characteristics of right to information. (3)

iz024- 'khr ;q) ds rhu dkj.k fy[kksA

Write three causes of Cold War. (3)

iz025- gfjr ØkfUr rFkk blds jktuhfrd dqizHkkoksa dk o.kZu djsaA

Explain green revolution and its political fallouts. (5)

iz026- usg: th dh fons'k uhfr ds eq[; fl)kUrksa dk o.kZu djksA

Explain the main principles of Nehru's Foreign Policy. (5)

iz027- f}/kzqoh;dj.k ds ykHk rFkk gkfu;k¡ fy[kksA

Write merits and demerits of bi-polarity. (5)

iz028- Hkkjr :l lEcU/kksa dh O;k[;k djsaA

Explain Indo-Russia relations. (5)

iz029- ,d /kzqoh; O;oLFkk ls vki D;k le>rs gSa \ blds eq[; dkj.k fy[kksA

What do you understand by Unilateralism ? Write its major causes. (5)

iz030- oS'ohdj.k D;k gS \ blds mn~Hko ds fy, mÙkjnk;h dkjdksa dh O;k[;k djsaA

What is Globalisation ? Explain the factors responsible for its emergence. (6)
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GEOGRAPHY

Time Allowed : 3 hrs. Maximum Marks : 60

lHkh iz'u vfuok;Z gSaA

All questions are compulsory.

iz01- ¼v½ fn, x, fo'o ds js[kk ekufp= esa fuEufyf[kr dks n'kkZb, %

¼1½ Vªkal&lkbcsfj;k jsyekxZ nks LVs'kuksa lfgrA

¼2½ fo'o ds nks eq[; oSf'od uxjA

(A) On the outline map of the world locate the following :
(i) Trans Siberian Railway with two stations.
(ii) Two main Global cities of the world.

¼c½ fn, x, Hkkjr ds js[kk ekufp= esa fuEufyf[kr dks n'kkZb, %

¼1½ Hkkjr dh foÙkh; jkt/kkuh

¼2½ U;wure lk{kjrk nj okyk jkT;

¼3½ Hkkjr ds nks pk; mRiknd {ks=

(B) On the outline map of India locate the following :
(i) Commercial Capital of India.
(ii) State with the lowest literacy rate.
(iii) Two tea producing areas of India. (2+3=5)

iz02- fo'o esa Hkw[k rFkk dqiks"k.k dh leL;k dk o.kZu dhft, rFkk crkb, fd buls lqj{kk

dSls lqfuf'pr dh tk ldrh gS \

Discuss the problem of hunger and malnutrition in the world and also explain that how
can we secure ourselves from this problem ? ¼5½

iz03- vUrjkZ"Vªh; O;kikj ds vk/kkj dh foospuk dhft,A

Give a detailed account of the basis of International Trade. (5)

iz04- ß[kfutksa dk vfLrRo dqN fuf'pr HkwxkZHkZd lajpukvksa ls tqM+k gSAß Li"V dhft,A

¼5½

"Existence of minerals is linked with some specific Geologic structural formation."
Discuss.
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iz05- fo'o esa tula[;k forj.k rFkk ?kuRo dks izHkkfor djus okys dkjdkas dh foospuk

dhft,A

Discuss the factors affecting the distribution and density of population in the world.
(4)

iz06- fodkl'khy ns'kksa esa uxjh; cfLr;ksa dh leL;kvksa dh foospuk dhft,A ¼4½

Discuss in detail the problems of Urban Settlements in Developing Countries.

iz07- ßHkkjr dh fofo/krk esa ,drk ds n'kZu gksrs gSaAß bl dFku dh O;k[;k dhft,A

"It is Unity in Diversity in India." Discuss. ¼4½

iz08- xzkeh.k cfLr;ksa ds fofo/k izfr:iksa dk o.kZu dhft,A ¼4½

Explain the different patterns of Rural Settlements.

iz09- iznw"k.k rFkk iznw"kd esa vUrj Li"V dhft,A Hkkjr esa ty iznw"k.k ds Lo:i dk o.kZu

dhft,A ¼4½

Differentiate between pollution and pollutant. Discuss the form of water pollution in
India.

iz010- ekuo Hkwxksy i`Foh rFkk ekuo ds ikjLifjd lEcU/k dk foKku gSA O;k[;k dhft,A

Discuss that Human Geography is the science of inter relationship between earth and
man. (2)

iz011- pyoklh i'kqpkj.k rFkk O;kikfjd i'kqpkj.k esa vUrj Li"V dhft,A ¼2½

Differentiate between Nomadic Herding and Commercial grazing.

iz012- pk; dh d`f"k ds fy, dkSu lh HkxkSfyd n'kk;sa pkfg;s \ o.kZu dhft,A ¼2½

Discuss the Geographical conditions required for the cultivation of Tea.

iz013- Lost+ ugj ekxZ dk fooj.k djsaA ¼2½

Discuss about the Suez Canal Route.

iz014- mÙkjh vVykafVdk ekxZ lcls O;Lr ekxZ D;ksa gS \ ¼2½

Why is North Atlantic Route the busiest in the world ?

iz015- Hkkjr esa tykHkko dh leL;k,¡ dkSu lh gSa \ ¼2½

What are the problems of water scarcity in India ?
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iz016- Þxgu d`f"k vf/kd tula[;k okys {ks=ksa dh fo'ks"krk gSAÞ bl dFku dh O;k[;k

dhft,A

"Intensive agriculture is the feature of highly populated areas." Discuss. (2)

iz017- vUrj Li"V djsa % ¼2½

¼d½ ifjogu ¼[k½ lapkj ¼x½ laizs"k.k

Differentiate between :
(a) Transportation (b) Communication (c) Transmission

iz018- ifjogu jk"Vªh; vFkZO;oLFkk dk egRoiw.kZ [k.M D;ksa gS \

Why is Transportation an important segment of National Economy. (2)

iz019- eqDr vkdk'k uhfr ls D;k vfHkizk; gS \

What is meant by Free Air Policy ? (2)
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GEOGRAPHY (PRACTICAL)

Time Allowed : 3 hrs. Maximum Marks : 25

Note : (i) Attempt any two questions from Section A and any one question from Section B.
 (ii) Credit will be given for neat and clean diagrams and calculations.

SECTION–A
(1) What is statistical data ? What are its types ? Explain in brief.
(5)

(2) Calculate the Arithmatic mean for the following data :
Marks obtained : 75, 42, 40, 30, 36, 42, 39, 52, 72, 60 (5)

(3) Draw a star diagram (Wind Rose) for Mumbai on the basis of data given below :
Directions : N NE E SE S SW W NW Calm
No. of days : 33 25 30 11 16 14 99 106    1 (5)

(4) Explain the merits and demerits of a choropleth map in the series of distribution of
maps. (5)

(5) Differentiate between Hardware and Software of a computer in detail. (5)

SECTION–B
(6) What  is  field  study ?  How  would  you  conduct  the  field  study  on  any  one  of  the

following topics ?
(i) Land use and Land use changes
(ii) Pollution
(iii) Ground water changes
(iv) Energy Issues
(v) Poverty (8)

(7) What are the sources of GIS data ? Explain Spatial Information Technology.(8)

4 marks for Practical File
3 marks for Viva Voce.
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PSYCHOLOGY

Time Allowed : 3 hrs. Maximum Marks : 60

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A mÙkj laf{kIr ,oa rdZlaxr gksus pkfg,A
 Attempt any five questions. Answers should be brief and to the point.

iz01- cqf) dks ifjHkkf"kr djsaA cqf) ds fofHkUu fl)kUrksa dh O;k[;k djsaA

Define intelligence. Describe the various theories of intelligence. (3, 9)

iz02- O;fDrRo ekiu dh fofHkUu fof/k;ksa dh O;k[;k djsaA

Describe the various methods of personality assessment. (12)

iz03- vlkekU; O;ogkj ls vki D;k le>rs gSa \ vlkekU; O;ogkj ds dkj.k dkSu&dkSu

ls gSa \

What do you understand by abnormal behaviour ? What are the various causes of
abnormal behaviour ?     (4, 8)

iz04- euksfpfdRlk dh izd`fr vkSj izfØ;k dh O;k[;k djsaA

Describe the nature and process of psycho-therapy. (12)

iz05- vfHko`fÙk dks ifjHkkf"kr djsaA vfHko`fÙk;ka fdl izdkj ls fufeZr gksrh gSa \ D;k vfHko`fÙk esa

ifjorZu yk;k tk ldrk gS \ O;k[;k djsaA

Define attitude. How the attitudes are formed ? Is it possible to change attitudes ?
Explain.   (4,4,4)

iz06- lewg fdls dgrs gSa \ lewg dSls curs gSa vkSj lewg fdrus izdkj ds gksrs gSa \

What is a group ? How the groups are formed and what are their types ? (4, 8)

iz07- ekuo&i;kZoj.k lEcU/k dh O;k[;k djsaA i;kZoj.k fdl izdkj ls ekuo O;ogkj dks izHkkfor

djrk gS \

Describe human-environment relationship. How do environment affect human behaviour?
(3,9)

iz08- fdUgha nks ij laf{kIr fVIi.kh djsa %

¼d½ izHkkodkjh euksoSKkfud dkS'ky] ¼[k½ izfrcy dk ekufld LokLF; ij izHkko]

¼x½ O;fDrRo dk izdkj mikxe] ¼?k½ l`tu'khyrk
Write short notes on any two :
(a) Effective psychological skills. (b) Effects of stress on psychological health.
(c) Type theory of personality (d) Creativity (6, 6)
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SOCIOLOGY

Time Allowed : 3 hrs. Maximum Marks : 85

uksV % ¼1½ lHkh iz'u vfuok;Z gSaA

All the questions are compulsory.
 ¼2½ 1 vad ds iz'u ds mÙkj 10 ls 15 'kCnksa esa nhft,A

Answer to 1 mark question be given in 10-15 words.
 ¼3½ 2 vadksa ds iz'uksa ds mÙkj 25 ls 30 'kCnksa esa nhft,A

Answers to 2 marks question be given in 25-30 words.
 ¼4½ 3 vadksa ds iz'uksa ds mÙkj 45 ls 50 'kCnksa esa nhft,A

Answers to 3 marks question be given in 45-50 words.
 ¼5½ 4 vadksa ds iz'uksa ds mÙkj 70 ls 75 'kCnksa esa nhft,A

Answers to 4 marks question be given in 70-75 words.
 ¼6½ izR;sd iz'u ds vad iz'u ds lkeus n'kkZ;s x, gSaA

Marks allotted to each question are mentioned against the question.

iz01- Hkkjr esa vusdrk esa ,drk dk laf{kIr o.kZu djsaA ¼2½

Explain in brief Unity in Diversity in India.

iz02- Hkkjrh; tula[;k uhfr;ksa dh dkSu lh miyfC/k;k¡ gSa \ ¼2½

What are the achievements of India's Population Policy ?

iz03- xzkeh.k leqnk; o uxj leqnk; esa vUrj fy[ksaA ¼3½

Distinguish between Village Community & Urban Community.

iz04- la;qDr ifjokj esa fo?kVu ykus okys dkjdksa dh ppkZ djksA ¼3½

Discuss the factors responsible for Disorganisation of Joint Family.

iz05- ifjokj dh dksbZ nks mi;qDr ifjHkk"kk,¡ fy[kksA ¼2½

Write any two appropriate definitions of family.

iz06- ukrsnkjh laKkvksa dh O;k[;k dhft,A ¼2½

Describe the kinship terms.
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iz07- tkfr o oxZ esa vUrj dhft,A ¼2½

Distinguish between Caste and Class.

iz08- tutkfr dh ik¡p fo'ks"krk,¡ fyf[k,A ¼2½

Write five characteristics of a tribe.

iz09- cktkj ds vko';d rRo dkSu ls gSa \ ¼1½

Which are the essential elements of market ?

iz010- jk"Vªh; fiNM+k oxZ vk;ksx D;k gS \ o.kZu djsaA ¼2½

 What is National Backward Classes Commission ? Explain.

iz011- tkfriwokZxzg dh i`"BHkwfe dks Li"V djksA ¼3½

 Explain the background of Caste Prejudice.

iz012- lhekUrhdj.k dk D;k vFkZ gS \ ¼1½

 What is Marginalization ?

iz013- Hkkjrh; lekt esa fL=;ksa dh fuEu fLFkfr ds dkj.k crkb;sA ¼2½

 Discuss the causes of Lower Status of women in Indian Society.

iz014- eqfLye vYila[;dksa ij ,d fVIi.kh fy[kksA ¼2½

 Write a note on Muslim minorities.

iz015- fodykaxksa ds fy, fd;s tk jgs dY;k.k dk;ZØeksa dks laf{kIr esa crkb;sA ¼2½

 Discuss in brief the welfare activities being done for disabled.

iz016- fir`lÙkk ij ,d laf{kIr ys[k fy[kksA ¼2½

 Write a brief essay on Patriarchy.

iz017- {ks=h;rkokn D;k gS \ ¼2½

 What is regionalism ?

iz018- Hkkjrh; lekt esa vusdrk esa ,drk dh pqukSfr;k¡ dkSu lh gSa \ ¼2½

 What are the challenges of Unity in Diversity in Indian Society ?
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iz019- cgqy lekt dk laf{kIr esa o.kZu djsaA ¼2½

 Explain in brief the Plural Society.

iz020- lkekftd vlekurk dk D;k vFkZ gS \ ¼2½

 What is meant by social Inequality.

iz021- f'k{kk ds egRo dk o.kZu djsaA ¼2½

 Explain the importance of Education.

iz022- vkS|ksfxdj.k dh fo'ks"krk,¡ crkb;sA ¼2½

 Write the characteristics of Industrialization.

iz023- uxjhdj.k dh fo'ks"krk;sa fy[ksaA ¼2½

 Write the characteristics of Urbanization.

iz024- if'pehdj.k o laLd`frdj.k esa vUrj fy[ksaA ¼2½

 Write the differences between Westernization and Sanskritization.

iz025- czã lekt ij fVIi.kh fyf[k,A ¼2½

 Write a note on Brahmo Samaj.

iz026- Hkkjrh; lekt ij iapo"khZ; ;kstukvksa ds izHkko fy[kksA ¼3½

 Write the effects of Five Year Plans on Indian Society.

iz027- jktuhfrd nyksa ds ykHk o gkfu;ksa dk o.kZu djksA ¼3½

 Discuss the advantages and disadvantages of Political Parties.

iz028- iapk;r lfefr ij ,d uksV fyf[k,A ¼2½

 Write a note on Panchayat Samiti.

iz029- gfjr ØkfUr ds izHkkoksa dh O;k[;k djksA ¼4½

 Explain the effects of Green Revolution.

iz030- fu;ksftr vkS|ksfxdhdj.k dk laf{kIr esa o.kZu djsaA ¼3½

 Explain in brief Planned Industrialization.
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iz031- oxZ lajpuk vkSj ifjoZru ij uksV fy[kksA ¼3½

 Write a note on class structure and change.
iz032- tulapkj o lkaLd`frd ifjorZu ij uksV fyf[k,A ¼4½

 Write a note on mass media and cultural change.

iz033- Hkwe.Myhdj.k ds izHkkoksa dh ppkZ djksA ¼4½

 Discuss the effects of Globalization.

iz034- lkekftd vkUnksyu dk laf{kIr esa o.kZu djsaA ¼2½

 Explain in brief the Social Movement.

iz035- fiNM+h tkfr;ksa ds vkUnksyu ls vki D;k le>rs gSa \ ¼2½

 What do you understand by movement of Backward Classes.

iz036- efgyk vkUnksyu ij uksV fyf[k,A ¼2½

 Write a note on Women Movement.

iz037- tutkrh; vkUnksyu D;k gS \ ¼1½

 What is Tribal Movement ?

iz038- i;kZoj.k dk vFkZ fy[kksA ¼1½

 Write the meaning of environment.
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laLd`re~ ¼,sfPNde~½

le; % gksjk=;e~ iw.kk±dk % 85

ijh{kk funsZ'kk % ¼1½ vfLeu~ iz'ui=s pRokj% [k.Mk% lfUrA

¼2½ losZ iz'uk% vfuok;kZ% lfUrA

[k.M&d ¼vifBr vocks/kue~½

iz01- v/kksfyf[kra x|ka'k ifBRok iz'ukukeqÙkjkf.k fy[kr & ¼5½

izfrfnua ekuokuka eufl fofo/kkuka euksjFkkuka mRifÙktkZ;rsA euksjFkkuka dks·fi vUr% ukfLrA

viq=% iq=fePNfr] vfo/k% fo|kfePNfr rFkk p fu/kZu% /kufePNfrA v=kfi          'krkf/

kifr% lglza] lglzkf/kifr% y{ka] y{kkf/kifr% dksfVfePNfrA ija euq";% bPNkek=s.k u defi

izkIrqa 'kDuksfrA m|esuSrr~ lEHkofrA m|esu dk;kZf.k fl/;fUrA ,rsu ekuokuka lq[k lèf)tkZ;rsA

m|esu fu/kZuks·fi /kua yHkrsA

iz'uk %& ¼d½ ,dinsu mÙkjr &

ekuokuka eufl fda tk;rs \ ¼1½

¼[k½ iw.kZokD;su mÙkjr &

¼1½ viq=%] fu/kZu%] y{kkf/kifr p fde~ bPNfUr \ ¼1½

¼2½ vL; x|ka'kL; 'kh"kZda fy[krA ¼1½

¼x½ ¼1½ ^fl/;fUr* bfr ins /kkrq% ydkj'p fufnZ'krA (½)
¼2½ ^m|esuSrr~* bfr inL; izd`fr :ia fufn'kZr~A (½)
¼3½ Þvfo/k% fo|kfePNfrß v= fo'ks"k.kina fdefLr \ (½)
¼4½ ^l/ku%* bfr inL; foykse ina fy[krA (½)

iz02- v/kksfyf[kre~ vuqPNsna ifBRok rnk/kkfjrkuka iz'ukukeqÙkjkf.k fy[kr & ¼8½

dkfynklks fg loZJs"B% dfojfLrA dkfynklL; lIrd`r;% lfUr&}s dkO;s] }s xhfrdkO;s]

=kf.k p ukVdkfuA ukVds"kq vfHkKku&'kdqUrye~ ukVde~ loksZRd`"V~e vfLrA vfLeu ukVds

'kdqUryk;k% nq";UrL; p iz.k;dFkk of.kZrk vfLrA HkkolkS"Bosu] Hkk"kkek/kq;sZ.k] izd`fro.kZusu]

vyadkj dkS'kysu] jlifjikdsu p bna ukVde~ vrho je.kh;e~ vfLrA vr,o dF;rs &

dkO;s"kq ukVda jE;a r= jE;k 'kdqUrykA dfork dkfeuhdkUr% dkfynkl% miek iz;ksxs

fo'ks"kr% & fu".kkr% vfLrA

iz'uk %& ¼d½ ,dinsu mÙkjr &

¼1½ loZJs"B% dfo% d% vfLr \ ¼1½

¼2½ loksZRd`"Va ukVda fdefLr \ ¼1½

¼[k½ iw.kZokD;su mÙkjr &

vfHkKku 'kdqUrys dk dFkk vfLr \ ¼1½

¼x½ ^dF;rs* & bfr ins /kkrq ydkj% opu'p fufnZ'kr~A
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¼?k½ ßdforkdkfeuhdkUr%ß bfr dL; inL; fo'ks"k.ke~ vfLrA

¼³½ ßloksZRre%ß vL; i;kZ;okfpina fde~ \

¼p½ ßukVda jE;e~ß v= fo'ks";a fde~ \

¼N½ vL; x|ka'kL; leqfpra 'kh"kZda fy[krA (1×5)

[k.M&[k ¼jpukRed&dk;Ze~½

iz03- iznÙk 'kCnlwph&lkgk¸;su mfpr inkfu fpRok fjDr LFkkuiwfrZ djoh;k & ¼8½

,dfLeu~ nsoky;s rkezpwMuke ------------------- olfr LeA l% ---------------- ns'kkVua d`Rok thfodk

fuokZga djksfr LeA ,dnk fHk{kka ----------------------- laLFkkI;a ukxnUrs voyEO; l% --------A ,d

ew"kd% mRd`R; mRd`R; fHk{kkik=LFkk lok± ----------- v[kknr~A l% f[kUu% r= v/k% HkwekS -------- l%

r=LFka ----------- vknk; lqIr% rnk ew"kd% mRdqÙkqZe~ u ----------A ifjozktd% ------------- /kua âRok

izlUuks & vHkor~A

e×××××tw"kk

¼fHk{kke~] vLoir~] izR;ga] fHk{kkik=s] ihjozktd%] ew"kdL;] v[kur~] v'kDuksr½

iz04- v/kksfyf[kr & ladsrinkfu vk/k`R; ,da vuqPNsna fy[kr & ¼8½

ladsrinkfu

izfrfnue drZO;e~] ojnkue] LoLFkaeu] ifjJekr~ u fojefr] jDr lapkyue~ ikpu

'kfDr%] 'kjhjL; jlk;ue~A

[k.M&x ¼ifBr&vocks/kue~½

iz05- v/kksfyf[kra x|ka'k ifBRok rnk/kkfjr & iz'ukukeqÙkjkf.k fy[kr &

,oa lefrØkeRlq fnols"kq jktk pUnzkihML; ;kSojkT;kfHk"ksda fpdh"kqZ% izrhgkjkuqidj.k laHkkj

laxzg.kkFkZekfnns'kA leqifLFkr ;kSojkT;kfHk"ksda p ra dnkfpr~ n'kZukFkZekxrHkk:<fou;efi

fouhrrjfePNu~ drq± 'kdqukl% lfoLrjeqokp &

iz'uk %& ¼d½ ,dinsu mÙkjr &

¼1½ dL; jkT;kfHk"ksda drq± jktk vkfnns'kA ¼1½

¼2½ vk:<fou;efi fouhrja dÙkq± d% mokp \ ¼1½

¼[k½ iw.kZokD;su mÙkjr &

jktk fde~ vkfnns'k% \ ¼1½

¼x½ ¼i½ ^xre* bfr inL; fda foykseina iz;qDre~ \ ¼1½

¼ii½ ^drqZe* bfr ins izd`fr izR;;a fufnZ'kr% \ ¼1½
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iz06- v/kksfyf[kra i|ka'k ifBRok rnk/kkfjrkuka iz'ukukeqÙkjkf.k fy[kr &

re/ojs fofÜoftfr f{krh'ka] fu%'ks"kfoJkf.krdks"k tkre~A

mikÙkfo/kks xq:nf{k.kkFkhZ] dkSRl% izisns ojrUrq f'k";%AA

iz'uk %& ¼d½ ,dinsuksÙkjr &

¼1½ ojrUrks% f'k";% d% vklhr~ \ ¼1½

¼2½ u`i% da v/oja d`roku \ ¼1½

¼[k½ iw.kZokD;su mÙkjr &

jkK% v/ojs d% fdeFk± izisns \ ¼1½

¼x½ ^u`ie~* bfr inL; LFkkus fde~ ina iz;qDre~ \ ¼1½

¼?k½ ßizisnsß bfr fØ;kinL; dks dÙkkZ \ ¼1½

iz07- v/kksfyf[kra ukV~;k'ka ifBRok rnk/kkfjrkuka iz'ukukeqÙkjkf.k fy[kr &

gs oVo ! ifjo`R; ykS"BSjfHk/uUr% miu;rSue'oe~A

,"k jksfgrkuka e/;spjks Hkosr~A

iz'uk %& ¼d½ ,dinsuksÙkjr &

¼1½ d% jksfgruka e/;spjks Hkosr \ ¼1½

¼2½ v'oa dS% vfHk/uUr% \ ¼1½

¼[k½ iw.kZokD;suksÙkjr &

d% dku~ izfr dFk;fr \ ¼1½

¼x½ ^,"k* bfr loZuke ina dL; laKk inL; LFkkus iz;qDre~ \ ¼1½

¼?k½ ^e`xk.kka* bfr LFkkus fda ina iz;qDre~ \ (½)
¼³½ ^vku;r~* bR;L; foykse ina fy[krA (½)

iz08- js[kkafdr dFkukfu vkfJR; iz'u fuekZ.ka dq:r & ¼4½

¼1½ fo}ku vfo/k;k e`R;qa rjfrA

¼2½ b;a yC/kk·fi [kyq nq%[ksu ifjikY;rsA

¼3½ v'oes/k bfr uke {kf=;k.kka egku mRd"kZ%A

¼4½ vLrkpy xeu dkys HkkLdjL; o.kZ% v:.k% HkofrA

iz09- v/kksfyf[kr 'kCnkuke vFkZ fy[kr %

mRlXs] ejky] iyk.MqRod] mn~fHkTt% ¼2½

iz010- HkkokFk± Li"Vhdq:r & ¼3$3¾6½

¼d½ rsu O;Drsu Hkq×thFkk%A

¼[k½ lfUe=y{k.kfena izonfUr lUr%A

iz011- v/kksfyf[krL; 'yksdL; iznÙkkUo;s fjDr LFkkukfuiwfr± d`Roka fy[kr &

u fg df'pR{k.kefi tkrq fr"BR;deZd`rA

dk;Zrs g~;o'k% deZ loZ% izd`fr tSxq.kS%AA
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vUo; & tkrq ------------- {k.ke~ vfi -------------- u fr"Bfr] fg loZ% ------------- izd`fr

tS --------- deZ dk;ZrsA ¼3½

iz012- laLd`rsu mÙkjr & (1×5=5)
¼d½ mikftZrkuka foRrkuka j{k.ka dFka Hkofr \

¼[k½ ds"kke~ mins"Vkj% fojyk% lfUr \

¼x½ vkJes ds ykfyrk% ikfyrk'p HkofUr \

¼?k½ o`)ksins'ka rs jktku% fdfefr i';fUr \

¼³½ lRdfoa dkS }kS mis{krs \

iz013- ¼d½  ^egkdfo dkfynklL;ksifj* fgUnh Hkk"kk;ka laf{kIr ifjp;a fy[krA (2½)
vFkok

 ^vfEcdknÙkO;kL;* fo"k;s laf{kIr ifjp;a fgUnh Hkk"kk;ke~ fy[krA

 ¼[k½ j?kqdkSRllaokn% vFkok 'kqduklksins'k% ikBL; lkja fgUnh Hkk"kk;ke~ fy[krA

(2½)
[k.M&?k ¼NUnks·yadkj&ifjp;½

iz014- ¼v½ ¼1½ ^p{kq"kk* bfr ins d% x.k% \ ¼1½

¼2½ f'k[kfj.kh NUnfl izfrpj.ka dfr o.kkZ% lfUr \ ¼1½

¼vk½ d;ks% };ks% NUnlks% mnkgj.k&ifjHkk"kk laxfr lfgr fy[kr~ %

mitkfr] 'kknwZyfoØhfM+r] ekfyuh ¼3$3¾6½

iz015- ¼d½  fjDr LFkkukfu iwj;r &

¼1½ f'y"VS% inS% ------------ 'ys"k mP;rsA ¼1½

¼2½ ------------- 'kCnlkE;a cS"kE;s·fi LojL; ;r~A ¼1½

¼[k½ d;ks% };ks% vyadkj;ks% ifjHkk"kk] mnkgj.ka laxfr lfgr fy[kr %

miek] vuqizkl] vFkkZUrjU;kl ¼3$3¾6½
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PHYSICAL EDUCATION

Time Allowed : 3 hrs. Maximum Marks : 60

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA

2- izR;sd iz'u ds vad lkeus fn, x, gSaA

1. The candidates are required to give their answers in their own words as far as practicable.
2.  Marks allotted to each question are indicated against it.

uksV % ¼1½ izR;sd ijh{kkFkhZ dks dqy lkr iz'u djus gksaxsA rhu iz'u Hkkx&1 ls] nks&nks

iz'u Hkkx&2 vkSj Hkkx&3 lsA

A candidate is required to attempt seven questions in all i.e. three from Part-I
and two each from Part II and III.

 ¼2½ izR;sd iz'u ds lHkh Hkkx ,d lkFk gy dhft,A

Attempt all the parts of a question together.

Hkkx&1 (PART-I)

iz01- mu lHkh rRoksa dk la{ksi esa o.kZu djsa tks vjksX;rk ,oa lq;ksX;rk dks izHkkfor djrs gSaA

Write short note on the factors which effect the fitness and wellness. (10)
OR

,jksfcd fØ;k,a fdl rjg ls 'kkjhfjd iqf"V dks fodflr djrh gSa \

How Aerobic activities develop the Physical Fitness ? (10)

iz02- [ksy if{k'k.k ls vki D;k le>rs gSa \ 'kfDr fodkl dh fof/k;ksa dk foLr`r o.kZu djsaA

What do you understand by methods of training  ? Explain the different methods of
strength development.    (5, 5)

OR
fVIi.kh fy[ksa &

¼1½ QkVZysd izf'k{k.k fof/k ¼2½ fyEcfjax MkÅu    ¼3½  vkblksehfVªd O;k;ke

Write short notes on :
(1) Fartlek Training (2) Limbering down (3) Isometric Methods

(4, 3, 3)
iz03- 'kkjhfjd f'k{kk ds dk;ZØeksa }kjk lkekftd xq.kksa ds fodkl dk o.kZu djsaA

Write  down  social  values  which  are  developed  through  the  Physical  Education
Programmes.         (8)

OR
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lekt'kkL= dh ifjHkk"kk nhft,A 'kkjhfjd f'k{kk ,oa [ksydwn esa blds egRo dk o.kZu djsaA

Define Sociology. Describe its importance in physical education and sports. (8)

Hkkx&2 (PART-II)

iz04- viuh ilUn ds fdlh ,d [ksy dk bfrgkl vkSj izeq[k dkS'kyksa dk o.kZu djsaA ¼8½

Write down the history of any game of your choice and explain its Rules and
Regulations.

OR
'kkjhfjd f'k{kk esa /kkod iFk fØ;kvksa dh D;k Hkwfedk gS \ yEch dwn esa 'kkjhfjd {kerk

dk iz;ksx dSls fd;k tkrk gS \ ¼8½

Define the role of track and field events in Physical Education. How the Physical
Strength is used in Long Jump ?

iz05- viuh ilUn ds fdlh Hkh [ksy ds izfl) VwukZesUVl o [ksy iqjLdkjksa dks fyf[k,A

Write about the famous Tournaments and awards of any game of your choice. (4, 3)
OR

vksyafid [ksyksa ds laf{kIr bfrgkl dk o.kZu djsaA ¼7½

Define the history of Olympic Games in brief.

Hkkx&3 (PART-III)

iz06- okrkoj.k ls D;k Hkko gS \ okrkoj.k ds {ks=ksa dk foLrkj ls o.kZu djsaA

What is the concept of Environment ? Write in detail about the scope of Environment.
(4,6)

OR
vkink D;k gksrh gS] ;g fdruh izdkj dh gksrh gSa \ foLrkj ls fy[ksaA

What is disaster ? Write in detail about its types. (2, 3, 5)

iz07- ifjokj dk D;k vFkZ gS \ blds D;k dk;Z gksrs gSa \ foLrkj ls fy[ksaA

What is the meaning of a family ? Describe its functions in detail. (2,5 )
OR

laf{kIr uksV fy[ksa %

¼1½ Lizsu

¼2½ ,yoks ysVjy ,ihdkasMhyl

¼3½ [ksy pksVksa dks jksdus ds mik;

Write short note on : (2, 2, 3)
(1) Sprain
(2) Elbow Lateral Epicondylits
(3) Measures for the Preventive of sports injuries.
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INFORMATICS PRACTICES

Time Allowed : 3 Hrs. Max. Marks 60

Note : All questions are compulsory.

Q1. State whether the following statements are True or False :
fuEufyf[kr dFku esa lgh o xyr crkb, %

i) GNU / Linux is a open source software operating system.
GNU / Linux ,d open source software operating system gSA 1

ii) DBMS is defined as a collection of interrelated data.
DBMS ,d interrelated Data lewg gSA 1

iii) Modules and Procedures are the basic structure of a VB program .
Modules vkSj Procedures, VB Program ds Basic structure gSaA 1

iv) You can not create dynamic array in Visual Basic.
vki Visual Basic esa dynamic array create ugha dj ldrs gSaA 1

v) MDI stands for Multiple Data Interface.
MDI  dk vFkZ Multiple Data Interface gSA 1

vi) ROLL BACK is a database transaction feature.
ROLL BACK ,d Database transaction dh fo'ks"krk gSA 1

vii) Like SQL, PL / SQL is a case sensitive.
SQL dh rjg PL/SQL case sensitive gSA 1

viii) A Lexical unit is a sequence of characters.
Lexical unit, characters dh ,d sequence gSA 1

ix) A module is a logically grouped set of SQL and PL / SQL statements.
Module SQL vkSj PL/SQL statements dk ,d logically grouped set gSA 1

x) DROP TRIGGER Command is not used to drop the trigger.
DROP TRIGGER Command, Trigger drop djus ds iz;ksx esa ugha vkrh gSA 1

  (1×10=10)

Q2. (a) What is Freeware and Shareware. Explain.
Freeware vkSj Shareware D;k gSa \ O;k[;k dhft,A 3
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(b) Explain Human Resource Development System.
Human Resource Development System dh O;k[;k dhft,A 3

OR

(a) Write the components of open source based software and explain them in short.
Open source based software ds components dks laf{kIr :i esa fyf[k,A 3

(b) What are the characterstics of a Dataware house ? Explain.
Dataware house dh fo'ks"krk,¡ D;k gSa \ O;k[;k dhft,A 3

Q3. (a) What are the advantages of Procedures ? Explain them.
Procedures dh D;k advantages gSa \ O;k[;k dhft,A 5

(b) Explain the following Modules :
(i) Class Modules
(ii) Standard Modules

fuEufyf[kr Modules dh O;k[;k dhft, %

(i) Class Modules
(ii) Standard Modules 5

OR

(a) What do you mean by control structure ?
Control structure ls vki D;k le>rs gSa \ 5

(b) Explain the following function in VB
(i) str ( ) (ii) Len (  )
(iii) RTrim (  ) (iv) Chr (  )
fuEufyf[kr VB function dh O;k[;k dhft, %

(i) str ( ) (ii) Len (  )
(iii) RTrim (  ) (iv) Chr (  ) 5

Q4. (a) Write a program in Visual Basic to find sum of 10 numbers.
nl vadksa dk tksM+ Kkr djus ds fy, Visual Basic esa ,d program fyf[k,A 4

(b) What do you mean by Single Document Interface (SDI)
Single Document Interface (SDI) ls vki D;k le>rs gSa \ 4

(c) What is ADO ? Explain.
ADO D;k gS \ O;k[;k dhft,A 4
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Q5. (a) What do you understand by SQL and explain the following SQL functions.
(i) Single Row Function
(ii) Character Function

SQL ls vki D;k le>rs gSa \ fuEufyf[kr SQL function dh O;k[;k dhft, %

(i) Single Row Function
(ii) Character Function

(b) What do you understand by data base transactions ?
Data base transactions ls vki D;k le>rs gSa \ 5

OR

(a) Define Data Replication. Explain.
Data Replication D;k gS \ O;k[;k dhft,A 5

(b) Explain properties of Database Transactions.
Data base transactions dh fo'ks"krkvksa dh O;k[;k dhft,A 5

Q6. (a) Write PL/ SQL Code to display series of numbers 2, 4, 6, 8, . . . .  100.
2, 4, 6, 8, . . . .  100 series dks display djus ds fy, PL/SQL code fyf[k,A

4
(b) Differentiate between implicit cursors and explicit cursors.

Implicit cursors vkSj explicit cursors ds chp vUrj crkb,A 4

(c) What is trigger ? What are the limitations of using triggers ?
Trigger D;k gS \ Triggers dk mi;ksx djus dh D;k limitations gSa \ 4
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fgUnksLrkuh laxhr ¼oknu½

le; % 3 ?k.Vs iw.kk±d % 25

uksV % dqy ik¡p iz'u djsaA igyk iz'u vfuok;Z gSA

iz01- vius ikB~;Øe esa ls dksbZ ,d fcyfEcr xr vkjksg vojksg idM+ vkSj pkSxqu ds nks

rksM+ksa lfgr fyf[k;sA

Write one Maseetkhani Gat from your syllabus along with Aroh, Avaroh and Pakad
and two Todas of Chaugun Laya.
         (5)

iz02- >irky ,oa :id rky dks ,dxqu rFkk nqxqu y;dkfj;ksa esa fyf[k,A

Write Ghaptaal and Rupak Taal in Ekgun and Dugun Layakaris. (2½+2½)

iz03- vius ok| ds lEiw.kZ bfrgkl ,oa vaxksa dk o.kZu djsa vkSj mUgsa fp= }kjk n'kkZb;sA

Write about the history and construction of your opted Instrument and show the parts
of your instrument with the help of diagram.
         (5)

iz04- fuEufyf[kr esa ls fdUgha nks tksfM+;ksa dh rqyuk dhft, %

¼d½ xzke&ewPNZuk ¼[k½ dàru&tetek ¼x½ o.kZ&vyadkj

Compare any two pairs from the following :
(a) Gram - Murchana (b) Krintan - Zamjama (c) Varan - Alankar

(2½+2½)
iz05- jkxksa ds le; fl)k¡r ds fo"k; esa foLrkjiwoZd fy[ksaA

Write in detail about the time theory of Ragas. (5)

iz06- 'kkjaxnso d`r laxhr jRukdj vFkok vgkscy d`r laxhr ifjpkr dk laf{kIr ifjp;

fy[ksaA

Write in brief about 'Sangeet Ratnakar' written by Pt. Sharang Dev or - 'Sangeet Parijata'
written by Pt. Ahobal.

         (5)

iz07- jkx HkSjo vFkok jkx [kekt dh jtk[kkuh xr rhu rksM+ksa lfgr fyf[k;sA

Write Razakani gat in Rag Bhairav or Rag Khamaj with three Todas. (5)
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Hindustani Music (Vocal)

le; % 3 ?k.Vs iw.kk±d % 25

uksV % dqy ik¡p iz'u djsaA igyk vkSj nwljk iz'u vfuok;Z gSA

iz01- vius ikB~;Øe ls fdlh ,d jkx dk cM+k [;ky Lojfyfi c) dhft,A

Write the Notation of Bada Khayal in any Raga from your syllabus. (5)

iz02- rky ^/kekj* vkSj rky ^fryokM+k* dh ,dxq.k o nqxqu lEiw.kZ ifjp; lfgr fyf[k,A

Write the Ekgun and Dugun of Taal Dhamar and Taal Tilwara with complete
introduction.         (5)

iz03- jkxksa ds le; fl)k¡r ds fo"k; esa foLrkjiwoZd fy[ksa ,oa fp= Hkh cuk,aA

Explain in detail the time theory of Ragas and draw a diagram also. (5)

iz04- Hkkjrh; laxhr ds izkphu bfrgkl ij izdk'k MkysaA

Throw light on the Ancient period history of Indian Music. (5)

iz05- jkx dS;kj dk lEiw.kZ ifjp; nsdj NksVk [;ky Lojfyfi <ax ls fy[ksaA

Write a Notation of Drut Khayal in Raga Kedar, with complete introduction of the
Raga.         (5)

iz06- fdUgha nks laxhrdkjksa dk thou ifjp; fy[ksa %

¼1½ mLrkn vCnqy djhe [kku

¼2½ mLrkn QS;kt [kk¡

¼3½ mLrkn cM+s xqykevyh [kka

Write the biography of any two musicians :
(1) Ustad Abdul Karim Khan
(2) Ustad Fayaz Khan
(3) Ustad Bade Gulam Ali Khan (2½+2½)

iz07- fuEufyf[kr esa ls fdUgha ik¡p dks ifjHkkf"kr djsa %

xzke] ewPNZuk] vyadkj] xed] eqdhZ] d.k] y;] rky

Define any five of the following :
Grama, Murchana, Alankar, Gamak, Murki, Kan, Laya and Tala (1×5)
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